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Question Number : 1 Question Id : 7773934617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



P.Q.R, S. T, U, Vand W are eight friends sitting equidistance around a circular table facing towards center.
i. R issitting third to the right of P who is sitting third to the right of U,
ii.  Q is sitting second to the left of S.
iii. T is sitting between W and P.
iv. U is sitting immediate right of Q.

Who is sitting opposite to R and S respectively?
Options :

. % LW

0. w UV

v VW

Lx WV

Question Number : 1 Question Id : 7773934617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



P, QR S T, U V3R W 35 BT tF eaeR &1 & IR AF & P T 3K HE b Th-gal
TA g W 55 g &l

i. R, P& 3 N IW TUF W AT g, 3 U & T2 3T I8y TIF 9T 97 2
i. Q, S & T HT gEL T T T gl

i. T, W 3R P & & & 331 21

iv. U, Q & T8 3T ¥91a # FoT ¢

Rmsimﬁmr:ﬁ;réagaﬂ%‘?

Options :

, % UV
3.9 ¥ WY

5,8 W, V

Question Number : 2 Question Id : 7773934618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Six friends P, Q. R, S, T and U are watching cricket match in a stadium sitting in a row. P is sitting neither at extreme

ends nor right of U and R. T is sitting second to the left of R and third to the right of S. Q is sitting between P and T.

Who is sitting third to the right of P?
Options :



Question Number : 2 Question Id : 7773934618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o @TP, QRS T3 U u*ﬁ%ﬂﬂﬁ‘uﬂﬂﬁﬁrﬁﬁtgﬂﬁﬁﬁﬂﬂaﬁ@?r P &7 ar far
A R NI IR AT U A RF R IS TLRF I g AT R AR S Faw &
IR E R AT Q, PR T & & 7 37 2

P & 2T 98y B T &I 337 87

Options :
L& T

Question Number : 3 Question Id : 7773934619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Consider the diagram below which represents the number of persons who belong to different classes. Circle represents
Married people, Triangle represents Diabetes patients, Square represents BP patients and Hexagon represents people

admitted in hospital.

What does 15 represents?

L~
I\.;?\“J

41

Options :

| % BPand Diabetes patients who are admitted in hospital

»  Married BP and Diabetes patients who are admitted in hospital

;. % BP patients who are admitted in hospital

4 % Married Diabetes patients who are admitted in hospital

Question Number : 3 Question Id : 7773934619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

- ¥ BP 3R AyAg & W, S sreaare 7 ot 2
ZJé‘%aﬁaapﬁizrgﬂgﬁﬂ?ﬁ,a‘rmﬁmﬁ%l
s » ¥ BP 3@, S awvare # st

, » 3 EETRT AYAF I6W, S IEArer H o5l &

Question Number : 4 Question Id : 7773934620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which letter cluster will replace the question mark (?) in the given series?

BEO, CHM, DEEK, ENI, FQG, ?



Options :
1. % GTF

, % EGT
3 v GTE
4 % GET

Question Number : 4 Question Id : 7773934620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rredr F ¥ 39 3ER-THE F 907 PIAC A FFa JTer § NARES (?) F TUH W HT T g

BEO, CHM, DKK, ENI, FQG, ?
Options :
| % GTF

, « EGT
; v GTE

4 % GET

Question Number : 5 Question Id : 7773934621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a code language, '"COLLEGE' is written as ‘FHFMMPD’. How will "TEACHER' be written in that language?
Options :



| % SFIDBFW
» « SFIDBFU
3 % TFIDBFV

4 % SFIEBFV

Question Number : 5 Question Id : 7773934621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U& FE $T9 H, 'COLLEGE' ® 'FHFMMPD' for@m Siram &1 3% w1 & 'TEACHER' 3% for@m smoem?

Options :
| % SFIDBFW

, v SFIDBFU
; % TFIDBFV

4. % SFIEBFV

Question Number : 6 Question Id : 7773934622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, 'STATE' is written as ‘65°. How will PERSON' be written in that language?
Options :

1 % 78



) % 89
3. 87

4. % 79

Question Number : 6 Question Id : 7773934622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UF FT AT H 'STATE' I '65' foram =irar g1 38 e &1 & 'PERSON' &1 & forgm Sreem?

Options :
| # 78

) % 89
3. ¢ 87

4. % 79

Question Number : 7 Question Id : 7773934623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, 'GOOD"’ is written as ‘816165" and ‘BAD’ *325° is written as. How will be "BOOST" written in that
language?

Options :

1 % 316161921

) % 316162121



3 % 316162020

4.« 310162021

Question Number : 7 Question Id : 7773934623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T HZ SN H 'GOOD' &' '816165' 31X 'BAD' & '325' & &7 H foram =rar g1 34 % awr
'BOOST' & 7w &7 7 or@r smeam?

Options :
| % 316161921

5 % 316162121
;% 316162020

4. v 316162021

Question Number : 8 Question Id : 7773934624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a code language is ‘Aman is going school’ is written as "la pa na ra”. "School is far away" is written as " ga na ra da”
and "Mountain is too far" is written as “na da ba lo." What will be the code for 'far' in that language?

Options :
| % na

) % Ia



3.¢ da

L
ga

Question Number : 8 Question Id : 7773934624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh & &N # ‘Aman is going school' &I "la pa na ra" f@@r Smar &, ‘School is far away’ &' "ga
ha ra da" for@r =Irar & 3T ‘Mountain is too far' & "na da ba lo" for@r =mar g1 347 FT AT H ‘far
T BT FAT FEM?

Options :
1. % ha

2 ® Ia
3 da

4. % 98

Question Number : 9 Question Id : 7773934625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vinay walks 2400m in West, then he turns right and walks 1900m, he again turns left and walks 1300m. Finally he turns
again left and covers 1900m. How far is he from starting point?
Options :
1.« 3700m

7 % 3200m



3 % 4300m

4. % 3800m

Question Number : 9 Question Id : 7773934625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foerar afesm & 2400 m ==rar &, B 38 @¢ H5ar & 3R 1900 m ==rar &, 7 5T & @10 Hgzar ¢ 3k
1300 m =orar g1 3 # 3¢ T & 910 F[3ar § 37 1900 m F gff 77 FXar g1 I IRFw Rg @
fararetr g3 &7

Options :

| v 3700m

, % 3200m
s % 4300m

4 % 3800m

Question Number : 10 Question Id : 7773934626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From among the given alternatives choose the pairs which have same relation as in the pairs given below.

|

49 :
Options :
1. % 81:3



» % 100: 11
3 % 121:13

4« 361:19

Question Number : 10 Question Id : 7773934626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feent # ¥ 38 grw &1 =a Hifow S T 377 & FAE d99 F c@Fd B

49: 7
Options :

| % 81:3
, % 100 : 11
3 % 121 : 13
4.« 361 : 19

Question Number : 11 Question Id : 7773934627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word Den’ is related to the word 'Lion' in the same way as the word 'Hive' is related to?
Options :

1. % Nest



7 % Owl
3. #% Mouse

4.« Bee

Question Number : 11 Question Id : 7773934627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIE' & A T W T § ‘Ood & FEr TOY T Zl
Options :
| % G
Soof
2. ® ~

Question Number : 12 Question Id : 7773934628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the option which represents the logical sequence of the following words.

1. Joining
2. Advertisement
3. Salary

4. Written test

5. Interview
Options :
l. 33 2-. 41. 11 5—-\. 3

8] [\
% %
! 1
oy oy
n n
—_ L
w -y

N
#®
I
n
I
—
)

Question Number : 12 Question Id : 7773934628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



37 Thed & 9w Sifaw Tud Fafefg aw=l & & o F7 F soafiyg G = ¢
1. FHTUTEOT
2. faramaa
3.3d
4. e odreT

5. &R
Options :
% 2,4,1,53

, x 2,4,5 31
024,81 8

4 ® 2: 5: 4: -1:3

Question Number : 13 Question Id : 7773934629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following words are alike in a certain way and one is different. Pick the odd one out.
Options :

| % Ampere

> % volt



3 % Pascal

4 Luminosity

Question Number : 13 Question Id : 7773934629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeredt & fow o0 = sew-EEE # @ 99 = Afwa % @ e 7 AR uE s B s
e &1 T3 HifST

Options :

| % TR

3 % HIEhel

4 v T

Question Number : 14 Question Id : 7773934630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the figure that will replace the question mark (?) in the following figure series.

Problem Fig.
J 9| 0 2
| 03 | B B4 ¢
A B C D
Answer Fig.
[9]
IR NARN
o | T |
| 2 3 4
Options :
1. % 1
) ® 2
3 % 3
4.4 4

Question Number : 14 Question Id : 7773934630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3ok HTHfaaT (Answer Fig.) § & 30 FeT &1 997 HITSAT AT 99 HTHid (Problem Fig.) gf@erm #
TRARES (?) & T 9T 3T T B

Problem Fig,
o | [!oi E
“lo1 E 0 = o ?
A B C [
Answer Fig.
5 2ol oL | nl
0 T (] |
1 2 3 4
Options :
1. # 1
2. % 2
3 & 3
4. v 4

Question Number : 15 Question Id : 7773934631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is related to the third figure C in the same way as the second figure B is related to the first figure
A

Problem Fig.
A B C D
Answer Fig.
1 2 3 4
Options :
1.¢ 1
2. ® 2
3. % 3
4. % 4

Question Number : 15 Question Id : 7773934631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3ccR AT (Answer Fig.) & & 37 e &7 997 ST AT 99 Hpiaar (Problem Fig.) & e
Hpfd C ¥ 38 ¥R FaUT g 58 TR ga@ll 3pfa B Tga 3efd A & HaoT ¢l

Problem Fig.

| 1| 12| 2
I % 7
=] |=8=| <8=| ==
Options:J 2 3 '
1.v 1
)% 2
% 3
an 4

Question Number : 16 Question Id : 7773934632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three of the following figures are alike in some way and one is different. Choose the odd figure.

Answer Fig,

(% AY

1 2 3 4

/0]

Options :
1% 1

I

2. ®

3.4 3

4. % 4

Question Number : 16 Question Id : 7773934632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fee 7 & 9 3ok A (Answer Fig.) fFdT & BT &9 & @919 § 3R Us HE9 g1 HE9d
3ca} HTHid (Answer Fig.) T =0« HIaT|

Answer Fig.

B - [ & =
o= i

1 2 3 +4

Options :
1. ® 1

2'%2



3.4 3

4. % 4

Question Number : 17 Question Id : 7773934633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given figure when the mirror is placed at the right side of the figure.

gleg@

I

2. ®

Question Number : 17 Question Id : 7773934633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gqur # e e 3pfa & a8 3R WS W 36 FEr g9vT Widfed & I8 3ok AEaAr (Answer
Fig.) # & FrfaT|

HERIE

Question Number : 18 Question Id : 7773934634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option figure which is NOT embedded in the figure (X) given below (rotation is NOT allowed).

MERENSERISIS

X I 2 3 4
Note: For this question, discrepancy is found in question/answer. So,this




question 1s 1gnored for all candidates.
Options :

1. 1

-

2.

3,3

4. 4

Question Number : 18 Question Id : 7773934634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 ReeT el & 99 Afee Gud § = 3y (X) a==fa 78 &
(gAY Fr AT A& )

MRS

X | 2 3 4

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.1




Question Number : 19 Question Id : 7773934635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number-pair in which the two numbers are related in the same way as are the two numbers of the following

number-pair.

2325
Options :

| % 25:625

Question Number : 19 Question Id : 7773934635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fawedl # ¥ 30 GCI-GeR FT 904 S0 Swhr diat gEasdt & @i 58 gev g S @ew gearn-gen
Fr FEIHT F 9= &

23 1520



Options :

| % 25 : 625
, % 27 : 738
;% 29 : 839
4 v 31:952

Question Number : 20 Question Id : 7773934636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives, choose an approximate value which would replace x in the given expression.

35.35 T 49.98 + 330.65 +2x =455.1
Options :
1. % 20.5

Question Number : 20 Question Id : 7773934636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A= == &t Hgmd FTT & TOIT X & TSIl AT &7 94T fafhear 7 & T

35.35 + 49.98 + 330.65 +2x = 455.1

Options :
| = 205
, % 16.75
s v 19.56
4 % 23.38

General Awareness
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Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 777393201
Section Number : 1

Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393237
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7773934637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dr. Himanta Biswa Sarma was sworn in as the Chief Minister of state in May 2021.
Options :

1. * Arunachal Pradesh

2. ® QGujarat

3. ¥ Assam

4. % Punjab

Question Number : 21 Question Id : 7773934637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Rud ST wRm dI A, 2001 0 P qouEHl & w0 § oy I v |
Options :

1. % SRUTEd U

2. % TSRId

3. ¢ 3HUH

4. % G99

Question Number : 22 Question Id : 7773934638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among of the following has not been awarded the 'Padma Vibhushan' by Govt. of India in 2021?



Options :

1. # Dr. Belle Monappa Hegde
2. % Shri Narinder Singh Kapany
3. % Shri B. B. Lal

4. % Shri Tarun Gogoi

Question Number : 22 Question Id : 7773934638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad 4 9 ford URd WRHR gR1 2021 § 037 fayyor & wwrfd g1 fovan
Options :

1. ® Sl dcot HITWT 8719

2. % i IRR Rig U

3. % gidtdl o

4. St asor Mg

Question Number : 23 Question Id : 7773934639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of book 'Getting India Back on Track: An Action Agenda for Reform'?
Options :

1. ¥ Shri Ratan Tata

2. % Shri Shashi Tharoor

3. #* Shri Kapil Sibal

4. #* Shri Chetan Bhagat

Question Number : 23 Question Id : 7773934639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT Efear 9 311 ¢h: T UaRM Toigl BIR RGIH & s B 82

Options :




1. ¢ I ¥a- <rer
2. % YR y=
3. % gt Hiud Risga
4. % ot Iaq Wi

Question Number : 24 Question Id : 7773934640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among of the following Satellite launched by ISRO in December 2020 for communication?
Options :

1. ¥ CMS-01

2. % EOS-03

3. #% Cartosat-3

4. % GSAT-30

Question Number : 24 Question Id : 7773934640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed # 9 SIH-91 IuUE ISRO GRT fGHR, 2020 H IR & forg afa oo mam
Options :

1. ¥ CMS-01

2. % EOS-03

3. % PHICRIT-3

4. % GSAT-30

Question Number : 25 Question Id : 7773934641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kumbhalgarh fort was built in the by Rana Kumbha in Rajasthan state.
Options :

1. # 12th century



2. % 17th century
3. % 13th century
4. ¥ 15th century

Question Number : 25 Question Id : 7773934641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HYATG fbar T MM HHT & GRT ISR T H §4171 -7 |
Options :

1. % 127 Rrarect

2. % 1741 cled]

3. % 133 raTed]

4. 1591 ST

Question Number : 26 Question Id : 7773934642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state the 'Hattari' dance is performed?
Options :

1. ¥ Karnataka

2. % Rajasthan

3. % Uttar Pradesh

4. % QOdisha

Question Number : 26 Question Id : 7773934642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR 9 o g | fopan S 82
Options :

1. ¥ BIchH

2. % ST



3. % TR USK
4. % 3nfg=m

Question Number : 27 Question Id : 7773934643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the incorrect pair of the person and his music instrument from following -
Options :

1. % Ravi Shankar - Sitar

2. % Zakir Hussain - Tabla

3. % Hariprasad Chaurasia - Sahnai

4. ¥ Amjad Ali Khan - Sarod

Question Number : 27 Question Id : 7773934643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o @ afadd iR 3% Tiiid aredd ard 7Teid g &1 Ug & |
Options :

1. # fagieR - AR

3. ¢ gRyITE IRRYA - TR

4. % 3MAVIG 37l @M - WG

Question Number : 28 Question Id : 7773934644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which ruler of Pallava Dynasty defeated Pulakeshin 11?
Options :

1. # Mahendravarman I

2. % Paramesvarvarman I

3. % Nandivarman II



4. % Narasimhavarman [

Question Number : 28 Question Id : 7773934644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueaid ST Rl o [ QRIes A Gefoh (R 11 d1 URIford fahar?
Options :

1. % AEGaH I

2. % TRURIHA

3. % dAdlariq 11

4.« RRYGIUA1

Question Number : 29 Question Id : 7773934645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Burma (Myanmar) was separated from the Indian Empire in
Options :

1. % 1937

2. % 1926

3. % 1942

4. % 1919

Question Number : 29 Question Id : 7773934645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0} (WHR) & YR gETeT T 31T R foar T
Options :

1. ¥ 1937

2. % 1926

3. % 1942

4. % 1919



Question Number : 30 Question Id : 7773934646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify from the following - the eastern most hills of India, the hill range is also known as the Odisha Highlands .
Options :

1. # Kaimur hills

2. % Garhjat hills

3. ¥ Mahadeo hills

4. ¥ Satmala hills

Question Number : 30 Question Id : 7773934646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfied o ¥ Ugam X - 39 URd &1 999 Ja UgTsdr 3R UgTe! 4Rl & S greaed & & H off S S |

Options :

1. % HIR UgIieal

2. TEolTd ugIfear

3. % Hgled UgIfsd]

4. % gaHTa geifSar

Question Number : 31 Question Id : 7773934647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Monthly Renewable Energy Generation Report (January 2021), the largest energy resource in India is:
Options :

1. # Natural Gas

2. % Nuclear

3. ¥ Renewable

4. ¥ Thermal

Question Number : 31 Question Id : 7773934647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IR 318 Holl SMTGA RUIC (GHART 2021) P SHTIR HRA H Ga8 FeT SHofl Gured gl
Options :

1. % TIHiad 19

2. % IR

3. % 3&Y

4. g

Question Number : 32 Question Id : 7773934648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Union Budget of India 2021, the 'PM Atma Nirbhar Swasth Bharat Yojana', will be launched with an outlay of about over 6
years.

Options :

1. # 20,220 crores
2. ¥ 64,180 crores
3. # 38,120 crores
4. % 84,340 crores

Question Number : 32 Question Id : 7773934648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & Haid goic 2021 & IR, YT AR T YRAASHD, 6 TN A TIHT URegd & 1Y URYH P S|
Options :

1. % 20,220 PRS

2. ¥ 64,180 RIS

3. % 38,120 RIS

4. % 84340 IS

Question Number : 33 Question Id : 7773934649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

According to Human Development Index 2020, what is the Life Expectancy index in India?
Options :

1. # 67.5 years

2. # 63.8 years

3. % 65.3 years

4. ¥ 69.7 years

Question Number : 33 Question Id : 7773934649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OTd fadh N qaHIH 2020 & SIAR, URA H Siia- TTRI Yadhid 1 82
Options :

1. % 67.5T9

2. % 63.8TY

3. % 65399

4. % 697 qY

Question Number : 34 Question Id : 7773934650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Fundamental Duties of citizens were added to the Indian Constitution by the Amendment.
Options :

1. % 17th

2. ¥ 42nd

3. ¥ 20th

4. % 34th

Question Number : 34 Question Id : 7773934650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IR & Aol Hd TNYE & gRT YR Sfaer | gfeaferd feu |
Options :
1. % 17d
2. ¢ 42d
3. % 20d
4. % 34d

Question Number : 35 Question Id : 7773934651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Secretaries-General of the Rajya Sabha?
Options :

1. * Dr. VK Agnihotri

2. % Shri Desh Deepak Verma

3. % Shri S.N. Mukherjee

4. % Shri S.S. Bhalerao

Question Number : 35 Question Id : 7773934651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I YT & YT b eel-oRd B A2
Options :

1. %8I dt.&. AVgH
2. % oft <=1 g qul
3. ¢ ft T, g@ei
4. % I TY.TY. Yok

Question Number : 36 Question Id : 7773934652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The All India Football Federation (AIFF) has its headquarters at



Options :

1. ¥ New Delhi
2. # Kolkata
3. # Guwabhati

4. # Darjeeling

Question Number : 36 Question Id : 7773934652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT HRIT Peald HeRY (AIFF) &1 JeATed Al
Options :

1. ¢ 8 feeett

2. % DIABII

3. % T[AIgIc!

4. % AT

Question Number : 37 Question Id : 7773934653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many medals did India win in Tokyo Olympic Games 20207
Options :

1. % 05

2. % 06

3.¥ 07

4. % 08

Question Number : 37 Question Id : 7773934653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRT = Tl 3Micifes g 2020 H fosa U Siid?

Options :



1. #® 05
2. % 06
3.¥ 07
4. % 08

Question Number : 38 Question Id : 7773934654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ramsar Wetlands Convention took place in on 2 February, 1971.
Options :

1. ¥ Iran

2. % Traq

3. % Turkey

4. % Egypt

Question Number : 38 Question Id : 7773934654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR decigd H=a=F 2 RN, 19711 H gl
Options :

1. ¥ 3

2. ® RNh

3. % g@f

4. % oy

Question Number : 39 Question Id : 7773934655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Sun's energy is produced by the nuclear fusion of
Options :

1. ¥ Hydrogen



2. % Helium
3. % Nitrogen
4. # Krypton

Question Number : 39 Question Id : 7773934655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 1 Solt & SMUTfAH T I ITF giail g
Options :

1. ¥ gIg gl

2. % gifergH

3. % A13gIoH

4. % fopuA

Question Number : 40 Question Id : 7773934656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the founder of the 'Wave Theory of Light' from following?
Options :

1. # Hugo Grotius

2. % Christiaan Huygens

3. % Baruch Spinoza

4. ¥ William B Drees

Question Number : 40 Question Id : 7773934656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol # 3 o 499 R ot drge & JwiTas 42
Options :

1. % g mieay

2. ¢ Topfear ggoid



3. % e U
4. % fAfermm &t S
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Question Number : 41 Question Id : 7773934657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



i : 0.04>0,04x0,04+0.03x0.03x0.03
Simplify:
T 0.04%0.04—0.04x0.03+0.03x0.03

Options :
1. % 0.7

5 & 0.07
3 % 0.007

4 % 0.0007

Question Number : 41 Question Id : 7773934657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0.04x0.04%0.04+0.03x0.02%0.03
0.04X0.04—0.04%0.03+0.03x0.03

FT AT AT I

Options :
1 = 0.7

, « 0.07
3 % 0.007

4 % 0.0007

Question Number : 42 Question Id : 7773934658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Solve : 6 % 0.6 ¥ 0.06 = 0.006 = 60
Options :



1. % 7.766

4 % 0.007776

Question Number : 42 Question Id : 7773934658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 x 0.6 x 0.06 x 0.006 x 60 T AT AT FI|
Options :
| % 7.766

, % 0.7776
s v 0.07776

4. % 0.007776

Question Number : 43 Question Id : 7773934659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1
Solve: 1+ -
1+4‘3_

1+

1-!

63l |

Options :



1. % 4
» 11
) % 34
40
3. & 43
popad
4. % 40

Question Number : 43 Question Id : 7773934659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 >
1+ —— &T AT A1 B
14—
=
i=3
Options :
3
L
1. % 4
Can
7 % 34
sid
3.¢ 43



Question Number : 44 Question Id : 7773934660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If 3 toffees and 4 chocolates cost 51 and 7 toffees and 2 chocolates cost 42, find the total cost of one toftee and one

chocolate.
Options :
1 ® Tll

5 & %13.50
3 % %15

4 % ¥17.50

Question Number : 44 Question Id : 7773934660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfE 3 I 3R 4 Tehere H FEd /1 & 3R 7 T AR 2 Ao H FAT 42§, G v @ HR
Uk Hiehold T FIHAT FaT 272

Options :

1 % 11

, v #1350
3 % 3 15

4, % #17.50



Question Number : 45 Question Id : 7773934661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solve :11- {7+14+ (3x3+1)!}
Options :

Question Number : 45 Question Id : 7773934661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11- {7+14= (3x3+1)} & AF AT H
Options :

2;

1. =



92

4.% 3

Question Number : 46 Question Id : 7773934662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dinesh's salary was decreased by 40% and later increased by 40%. How much percent does he lose from his original
salary?
Options :
1.« 16%

Question Number : 46 Question Id : 7773934662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferer &7 399 9ger 40% wer fear A At T 40% Ferar 74T 9SS 399 & o 9iaeg & 39

o 587

Options :
| v 16%

5 % 22%

3 % 34%



4 % 46%

Question Number : 47 Question Id : 7773934663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of three people in a room is 34 years. If the proportion of their ages is 4:5:8. find the age (in years) of
the youngest person in the room.
Options :

1 ® 2

Question Number : 47 Question Id : 7773934663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fordir et & 3ufdya dia @l $1 Arwa Hg 34 3§ 71 fE 3FEr Y NG 4:5:8 §, o FAT A
qH FHiavs HF HY (F§ A) AT HS0

Options :

% 2

% 12

3 24



4. % 32

Question Number : 48 Question Id : 7773934664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A certain sum amounts to ¥ 1224 at the end of 3 years and to Z 1440 at the end of 5 years at a certain percentage of SI.
Find the percentage of SI.

Options :

1. % 9%

5 % 10%
3 % 11%

4 @ 12%

Question Number : 48 Question Id : 7773934664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R T s s RET T T W3 W S AT 3 1224 I 5 W F 3T H

3 1440 g ATET &1 TTUOT ST &7 9iaed &7 AT erv]
Options :
1% 9%

5 % 10%

5 % 11%



4 v 12%

Question Number : 49 Question Id : 7773934665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A man borrows T 5000 (@ 10% CI per annum, interest payable every six months. He pays back Z 1250 at the end of first

and second six months. Calculate the third payment he will have to make at the end of 18 months to clear his entire

loan.
Options :
1. ® 2875

5 & ¥3097.50
3 % ¥3140

4. % T3354.50

Question Number : 49 Question Id : 7773934665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U =AfFd 10% TN Tehgle o=l &7 &7 ¥ 2 5000 FHUT o ¢, F@l O Jodish SHE R W
THE BT gl TE Teor AN TH AN & Hd H 2 1250 FT AT T g1 18 FRS F HT A 3W
3T TYUT HOT bl & (AT & AT T 0T HY

Options :

| % T 2875

, » % 3097.50



s % T 3140

4 % T 3354.50

Question Number : 50 Question Id : 7773934666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A car covers a distance of 600 m in 1 minute whereas a bus covers a distance of 54km in an hour. Find the ratio of their
speeds.
Options :
1 ® 1:2

Question Number : 50 Question Id : 7773934666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

vH FX 1 Bae # 600 m ¥ gl 97 T § T TF 5@ UF g F 54 km H g TT FAT &1 3T
=Tl T 3T AT BT

Options :
1. ® 1:2

4 23



3. & 3:4

4 % 4:5

Question Number : 51 Question Id : 7773934667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average marks of a student in an examination excluding English and Mathematies is 72. Including his scores of 85

in English and 95 in Mathematics, his average marks rises to 76. Find the number of subjects in the exam that the
student appeared for, including English and Mathematics.
Options :

1% 35

Question Number : 51 Question Id : 7773934667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3T 70T F SrEe TF 9T # UH oF # HEd 3/ 72 F1 38F FISw &+ 85 v ava F
05 & 37ehl I AT 3T HaT 34 a7 76 & ar &1 3T 9ieT & awar fr g 799 +7 oms
maﬁag&nmﬁmﬁa&ﬁﬁr&ﬁ??ﬁﬁam%i

Options :




Question Number : 52 Question Id : 7773934668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average age of a father, mother and son 3 years ago was 65 years. If the average age of the mother and son today is

62 years, find the current age of the father.
Options :
| 80 vears

) ® 79 years

3 % 78 years

4 % 77 years

Question Number : 52 Question Id : 7773934668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 I 9gH U T, AT AR qF H HEa g 65 aW off| ARy w=r Ar dR ¥ #r a3y 62 av
g, ar far $r ada= 3 A Hiw




Options :
v 80 3N

, % 79 AW
;% 78 99
4 % 77 99

Question Number : 53 Question Id : 7773934669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aroom 3m 92cm long and 2m 48cm wide is to be paved with identical square tiles. Find the least number of such
identical square tiles needed to cover the floor.
Options :
1.« 1519 tiles

o % 1586 tiles
3 % 1605 tiles

4 % 1628 tiles

Question Number : 53 Question Id : 7773934669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3m 92cm oF 3T 2m 48cm =T TH FAL F TATH FTHRN =l F TR Fam AT 81 B F Tha
& T 3T A FER TEAl F AT FEIT AT HIAT

Options :

| v 1519 T
, % 1586 TEe
; % 1605 TE
, » 1628 2rse

Question Number : 54 Question Id : 7773934670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The perimeters of two squares are 28 cm and 44 cm respectively. Find the perimeter of a third square whose area is

equal to the difference of the areas of the first two squares.

Options :
| % 20@ cm
) o 24 V2cm

3 % 23 v1lcm

4 % 28+47cm



Question Number : 54 Question Id : 7773934670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ar F9it & 9fATT FHA: 28 cm 3T 44 cm I 37 DT T 71 9lA@T AT AfET SEEr dwea g7
ar gt & STAme % HAX & ST 2

Options :

L% 20V3 ecm

5 v 24\2em
; % 25 Y1lem

4 = 28y7cm

Question Number : 55 Question Id : 7773934671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Total surface area of a cuboid is 3.82 sq m. If its height is 80 cm and breadth is 70 cm. find its length.
Options :

1. % 1.2m

> % 1l.1m

3% 1lm

4.« 0.9m

Question Number : 55 Question Id : 7773934671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

foreT wr=TsT FT HEOT 56 &I ke 3.82 m? g1 IR sHEH FE 80 cm HY HiEE 70 om 7, A s
TFEETS AT FL

Options :

1. ® 12 m

2. ® 1.1 m
3. % Tm

Question Number : 56 Question Id : 7773934672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A swimming pool 81m by 77m by 6m is filled by a cylindrical pipe of radius 30cm (@ 5m/second. Find the time needed

o

to fill the pool. (Use ﬂ:=§ ).
Options :
) 62 hours
1. # 3

4
6- hours
pu |

1
~ 7- hours
3. % &



LT
7— hours
4. 20

Question Number : 56 Question Id : 7773934672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
81m x x77m x 6m T3t arem v FRfHeT 9@ v 30cm BAm arer AR ST SR Sm/ASs
X T AT §| I F AR F AT 3mezw wHw 7 A (=2 1 5@ )

Options :

62 we
E) E

1.

62 T
) 3

2.

FLge
3.%.-5 B

T
4.¢ 20

Question Number : 57 Question Id : 7773934673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Based on the given table answer questions

The table below gives the sales of different types of batteries of company XYZ for the vears 2010-16 (Rupees in Lakhs)

TYPES OF BATTERIES

YEAR | A E L2 D TOTAL
2010 |90 164 |92 107 | 453
2011 105 | 146 |74 125 | 450

2012 | 111 134 | 95 134 | 474

2013 | 120 | 110 |65 74 369

2014 105 |95 35 80 324

2015 | 120 |80 87 1192 | 406
2016 | 130 |70 100 | 144 | 444

BY what percentage has the total sale of batteries increased/decreased in 2016 compared to 20117 [Give your answer
correct to two places of decimal. ]
Options :
| % Increased by 1.74%
) Decreased by 1.33%

;. % Increased by 1.99%

4 % Decreased by 1.64%

Question Number : 57 Question Id : 7773934673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A & o€ arfere 39 2010-16 F R Fuar XYZ #r Bfeesd v &1 Seiar &7 {Fdr (st 2 §)
cemdr 7

it = wwrT

L A B c o |w=
2010 |90 |1Ba |92 [107 |4s3
2011 |105 |148 |74 |[125 |aso

2012 (111 [134 |95 [13a |474

2013 | 120 |110 |65 |74 | 389

20174 105 a5 35 88 | 324

2015 | 120 | 80 a7 119 | 406

2016 | 130 |70 | 100 | 144 | 444

2011 T o 7 2016 & ST & For ookt 7 fohael SfoRid 1 & / Fal g3 87 [Seal He
& T T &l
Options :

| w 1.74% B I

5« 1.33% &r =

, x 1.99% #r i

4 % 1.64% &r =

Question Number : 58 Question Id : 7773934674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Based on the table below answer questions

Given below are the marks scored by 5 students in an examination in five subjects and the numbers in the bracket is the

maximum marks that can be scored by a student.

Nams Subjects
English{100) | Language(50) | Maths(120) | Science(30) | Social
| Srudies(75)

A i) i 100 7 175
B 80 40 11 6l 171
C 65 2 62 70 160
D 8 4l 58 65 6l
E 50 ) ) | 54 I5

Suppose for each student a table is prepared in which the raw scores are replaced by the percentage scores, each
rounded off to the nearest whole number. What would then be the overall average percentage scored by C? (The answer

should be rounded off to the nearest whole number.)
Options :

| % 63%

) % 66%

3.« 70%

4. % 72%

Question Number : 58 Question Id : 7773934674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=T aifereT & T 98T & 5 o1& & 99 F9ar # greg 3+ fGu 57 § 3 Frees 7§ 30 aH 3
few arv § St T O1F ga’r 9vF BT 1 T g

Eir] ey
3 W (50) | i {120) | R AT
(100) (80) T

(75)

A |78 48 100 72 7%

B |80 la0 111 60 T

c |es 32 62 70 60

D |82 41 58 65 61

E_|s0 142 60 184 52

A WAfoT & 9% o & v & aifte dar & J1dr § 5wF 9rea 3@ # Heean qur g'w H
qUitfere Sfaera 3t & sgo feam =ar &, & C gan 9ra For 3itwa fora fraar gem? (3ea
fleheaH qOT HEIT H qUiifehd fohal ST =1fgTI)

Options :

| % 63%

5 % 66%
3 v 70%

4 % 72%

Question Number : 59 Question Id : 7773934675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph below details out the number of students admitted in an engineering college during the years 2011-2016.

Admission

If the boys to girls ratio is 3:2 every vear, find the total number of girls who took admission between 2013 and 2015
(both inclusive).

Options :

1. ® 5976

5 % 4458
3 % 4012

4 & 3984

Question Number : 59 Question Id : 7773934675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



farT 253 I 2011-2016 & R U= SHATRTNET Fiost § 939927 (Admission) o Jrer ©mET i F@Eam
T Taor &ar g

Admission

ofE geds ¥ orF A o # Hgad 3:2 §, a 2013 AR 2015 F @1 w2 oA qrel ST H o
&7 (BT # Feme) 7 fiferw

Options :

| % 5976

, % 4458
s % 4012

4 v 3984

Question Number : 60 Question Id : 7773934676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following line chart shows the profit percentage of three companies X, Y and Z during the four quarters of a year.

Ouarter 1 Quarter 2 Cuarter 3 Quarter 4

— Y — - -7

If the profit (based on income) for Company Y in real terms for 1st Quarter was ¥ 2.25 lakh, find the profit it made in
the 3rd Quarter (assuming that the income for all the four quarters is same)?

Options :

1. % ¥2.81 lakh

> ® ¥2.03 lakh
3 % I 1.88 lakh

4 « ¥ 1.50 lakh

Question Number : 60 Question Id : 7773934676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foe T@r-=me A +afaat X, Y 3K Z & g a9 & =Int AR (Quarter) & &Y 9faerd & TGT 2

20

afy ugelr THAE # FU=T Y FT areaias & H o1 (1T & HYUR 97) 7 2.25 @ o, ar aradr A
7 (A7 o & wslr o Tafgar & 37 g3 8) a7 7 a HifSw)

Options :
| # T 281 oF

, % T 2.03 7
;% % 1.88 @@

4« % 1.50 =@
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Question Number : 61 Question Id : 7773934677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill up the blank with appropriate preposition.

The cause this variant of the influenza is still unknown.
Options :

1. ® from

2.9 of

3. % to

4. % at



Question Number : 61 Question Id : 7773934677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill up the blank with appropriate preposition.

The cause this variant of the influenza is still unknown.
Options :

1. * from

2.9 of

3. % to

4. % at

Question Number : 62 Question Id : 7773934678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct option.

If he studies hard, he his parents proud.
Options :

1. * made

2. % has made

3. % will make

4. % had made

Question Number : 62 Question Id : 7773934678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct option.

If he studies hard, he his parents proud.
Options :



1. # made

2. # has made
3. ¥ will make
4. #* had made

Question Number : 63 Question Id : 7773934679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense that has been used in the following sentence.
He has known me for seven years.

Options :

1. # Simple Present Tense

2. ¥ Present Perfect Tense

3. % Future Continuous Tense

4. % Future Perfect Continuous Tense

Question Number : 63 Question Id : 7773934679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct tense that has been used in the following sentence.
He has known me for seven years.

Options :

1. # Simple Present Tense

2. ¥ Present Perfect Tense

3. % Future Continuous Tense

4. % Future Perfect Continuous Tense

Question Number : 64 Question Id : 7773934680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct option.



Coffee which I am drinking now is the best.
Options :
1. % A
2. % An
3. ¥ The

4. ¥ No article is required

Question Number : 64 Question Id : 7773934680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct option.

Coftee which I am drinking now is the best.
Options :
1. % A
2. % An
3. % The

4. % No article is required

Question Number : 65 Question Id : 7773934681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find out the error part in the sentence from the options given below.

Maria works for an UN-based program which is committed to support the underprivileged children of Third World countries.
Options :

1. ¥ Maria works for an UN-based program

2. # which is committed to support the underprivileged children

3. # of Third World countries.

4. % No error



Question Number : 65 Question Id : 7773934681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find out the error part in the sentence from the options given below.

Maria works for an UN-based program which is committed to support the underprivileged children of Third World countries.
Options :

1. ¥ Maria works for an UN-based program

2. % which is committed to support the underprivileged children

3. # of Third World countries.

4. % No error

Question Number : 66 Question Id : 7773934682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

The wedding was due to irreconcilable differences between the two families.
Options :

1. % called out

2. % called off

3. % called for

4. % called upon

Question Number : 66 Question Id : 7773934682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

The wedding was due to irreconcilable differences between the two families.



Options :

1. # called out
2. ¥ called off
3. % called for

4. # called upon

Question Number : 67 Question Id
Orientation : Vertical

: 7773934683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

Fortunately, the wise couple had decided to some money for their old age.

Options :

1. # lay down
2. % lay off
3. % lay out
4. ¥ lay by

Question Number : 67 Question Id
Orientation : Vertical

: 7773934683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the suitable phrasal verb from the options given below.

Fortunately, the wise couple had decided to some money for their old age.

Options :

1. # lay down
2. % lay off
3. % lay out
4. ¥ lay by

Question Number : 68 Question Id

: 7773934684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct collocation.

Mr. Sharma has all his life.
Options :

1. # got risks

2. ¥ taken risks

3. # given risks

4. #* left risks

Question Number : 68 Question Id : 7773934684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct collocation.

Mr. Sharma has all his life.
Options :

1. # gotrisks

2. ¥ taken risks

3. # given risks

4. % left risks

Question Number : 69 Question Id : 7773934685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in blank with the correct collocation.

We had never hoped to SO soon.
Options :

1. ¥ find a replacement



2. # fill a replacement
3. ® ensue a replacement

4. # provoke a replacement

Question Number : 69 Question Id : 7773934685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in blank with the correct collocation.

We had never hoped to SO soon.
Options :

1. ¥ find a replacement

2. % fill a replacement

3. # ensue a replacement

4. ® provoke a replacement

Question Number : 70 Question Id : 7773934686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct antonym of the word 'precarious' in the sentence from the given options.
Raman was in a rather precarious position at work.

Options :

1. # senior
2. ¥ secure
3. % dicey

4, % clear

Question Number : 70 Question Id : 7773934686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct antonym of the word 'precarious' in the sentence from the given options.
Raman was in a rather precarious position at work.



Options :

1. # senior
2. ¥ secure
3. % dicey

4, % clear

Question Number : 71 Question Id : 7773934687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct synonym of the word 'rancor' in the sentence from the given options.
Mark decided to put his past rancor with Aby behind and move ahead in life.

Options :

1. # sadness
2. % guilt

3. % animosity

4. ® relationship

Question Number : 71 Question Id : 7773934687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suggest the correct synonym of the word 'rancor' in the sentence from the given options.
Mark decided to put his past rancor with Aby behind and move ahead in life.

Options :

1. # sadness
2. % guilt

3. % animosity

4. ® relationship

Question Number : 72 Question Id : 7773934688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct option.



Roma was always known to be a girl.
Options :

1. % descent

2. % dissent

3. % descend

4. ¥ decent

Question Number : 72 Question Id : 7773934688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct option.

Roma was always known to be a girl.
Options :

1. # descent

2. % dissent

3. # descend

4. ¥ decent

Question Number : 73 Question Id : 7773934689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the meaning of the given idiom.
'blaze a trail'

Options :

1. # to be the first person to get a scolding without any reason
2. % to be the first person to start something new and important
3. # to be the first person to accept defeat on behalf of others

4. % to be the first person to give bad news to the entire team

Question Number : 73 Question Id : 7773934689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the meaning of the given idiom.
'blaze a trail'

Options :

1. # to be the first person to get a scolding without any reason
2. ¥ to be the first person to start something new and important
3. # to be the first person to accept defeat on behalf of others

4. % to be the first person to give bad news to the entire team

Question Number : 74 Question Id : 7773934690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which consists of a wrongly spelt word.

Isn't it weird that he stores all coupons, reciepts and cash memos for future reference?
Options :

1. ® Isn't it weird that he

2. ¥ stores all coupons, receipts

3. # and cash memos for future reference?

4. % No error

Question Number : 74 Question Id : 7773934690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which consists of a wrongly spelt word.

Isn't it weird that he stores all coupons, reciepts and cash memos for future reference?
Options :
1. % Isn't it weird that he

2. ¥ stores all coupons, receipts



3. #* and cash memos for future reference?

4. % No error

Question Number : 75 Question Id : 7773934691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which consists of a wrongly spelt word.

The noteable man decided to donate all his property to the charitable trust.
Options :

1. ¥ The noteable man decided

2. % to donate all his property

3. # to the charitable trust.

4. % No error

Question Number : 75 Question Id : 7773934691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence part which consists of a wrongly spelt word.

The noteable man decided to donate all his property to the charitable trust.
Options :

1. ¥ The noteable man decided

2. # to donate all his property

3. % to the charitable trust.

4. % No error

Sub-Section Number : 2
Sub-Section Id : 777393240
Question Shuffling Allowed : Yes

Question Id : 7773934692 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (76 to 80)

Kalam had an intense side to his personality that many other scientists too display. Leave alone the Rudra Veena, which he was used to playing,
art and culture fascinated him as much as rockets and missiles.

Rashtrapati Bhavan, on his initiative, started a series of cultural programmes called Indradhanush. Over fifty-three performances were staged at
the Rashtrapati Bhavan in front of an invited audience. Not only the artistes of repute, but those aspiring to join their ranks were encouraged to
perform. Ustad Bismillah Khan's last performance was at the Mughal Gardens. Rasika Chaube, my colleague and Internal Financial Adviser, was
the architect of the series, under Kalam's guidance. Among the artistes who performed were classical dancers, vocalists, Sufi singers and
musicians. As an introduction to Indian music and dance for anyone, it was pretty complete.

In November 2006, we had a session under Indradhanush with Shankar Mahadevan, U. Shrinivas, Shivamani and Loy Mendonca in the open air.
The performance drew a large audience and was a smash hit, as expected. But the climax was yet to come. The programme was over, the
souvenirs given, the vote of thanks yet to be said. And Kalam walks up to the stage, has a word or two with Sivamani, the drummer, and tries his
own hand at the drums, watched by a delighted audience. Now Sivamani presides over an awesome range of instruments - drums, cymbals and
other percussion devices - and just to sit in the centre of that array is, to me, an act of daring! Kalam did it with aplomb and, I think, did a fair job
for a novice. Certainly the audience enjoyed his impromptu performance, and the beat he came up with.

Sub questions

Question Number : 76 Question Id : 7773934693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The series of cultural programmes, called Indradhanush, was conceptualized and organized by
Options :

1. # The narrator under Kalam's guidance

2. ¥ Rasika Chaube under Kalam's guidance

3. # Ustad Bismillah Khan

4. # Shankar Mahadevan and his troupe

Question Number : 77 Question Id : 7773934694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the passage, Kalam was

Options :

1. # keen to show everyone that he was a good Sufi singer
2. # adamant to utilize the Rashtrapati Bhavan 24/7

3. % a great enthusiast of art and culture



4. # tired of being a scientist and wanted to devote his life to music

Question Number : 78 Question Id : 7773934695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. # The Rashtrapati Bhavan

2. # Rockets v/s music

3. % The Confident Kalam

4. ¥ The Unseen Personality of Kalam

Question Number : 79 Question Id : 7773934696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?

Options :

1. ¥ Nostalgic

2. # Satirical

3. % Apathetic

4. % Humorous

Question Number : 80 Question Id : 7773934697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word in the passage is the antonym of 'planned'?
Options :

1. * intense

2. % smash

3. # climax

4. ¥ impromptu



Question Id : 7773934692 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

Kalam had an intense side to his personality that many other scientists too display. Leave alone the Rudra Veena, which he was used to playing,
art and culture fascinated him as much as rockets and missiles.

Rashtrapati Bhavan, on his initiative, started a series of cultural programmes called Indradhanush. Over fifty-three performances were staged at
the Rashtrapati Bhavan in front of an invited audience. Not only the artistes of repute, but those aspiring to join their ranks were encouraged to
perform. Ustad Bismillah Khan's last performance was at the Mughal Gardens. Rasika Chaube, my colleague and Internal Financial Adviser, was
the architect of the series, under Kalam's guidance. Among the artistes who performed were classical dancers, vocalists, Sufi singers and
musicians. As an introduction to Indian music and dance for anyone, it was pretty complete.

In November 2006, we had a session under Indradhanush with Shankar Mahadevan, U. Shrinivas, Shivamani and Loy Mendonca in the open air.
The performance drew a large audience and was a smash hit, as expected. But the climax was yet to come. The programme was over, the
souvenirs given, the vote of thanks yet to be said. And Kalam walks up to the stage, has a word or two with Sivamani, the drummer, and tries his
own hand at the drums, watched by a delighted audience. Now Sivamani presides over an awesome range of instruments - drums, cymbals and
other percussion devices - and just to sit in the centre of that array is, to me, an act of daring! Kalam did it with aplomb and, I think, did a fair job
for a novice. Certainly the audience enjoyed his impromptu performance, and the beat he came up with.

Sub questions

Question Number : 76 Question Id : 7773934693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The series of cultural programmes, called Indradhanush, was conceptualized and organized by
Options :

1. # The narrator under Kalam's guidance

2. ¥ Rasika Chaube under Kalam's guidance

3. % Ustad Bismillah Khan

4. % Shankar Mahadevan and his troupe

Question Number : 77 Question Id : 7773934694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the passage, Kalam was

Options :

1. # keen to show everyone that he was a good Sufi singer
2. % adamant to utilize the Rashtrapati Bhavan 24/7



3. ¥ a great enthusiast of art and culture

4. # tired of being a scientist and wanted to devote his life to music

Question Number : 78 Question Id : 7773934695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate title of the passage from the options given below.
Options :

1. # The Rashtrapati Bhavan

2. # Rockets v/s music

3. % The Confident Kalam

4. ¥ The Unseen Personality of Kalam

Question Number : 79 Question Id : 7773934696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?

Options :

1. ¥ Nostalgic

2. % Satirical

3. % Apathetic

4. % Humorous

Question Number : 80 Question Id : 7773934697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which word in the passage is the antonym of 'planned'?
Options :

1. * intense

2. % smash

3. # climax

4. ¥ impromptu
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Question Number : 81 Question Id : 7773934698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B HRb BT fauiH =g &

Options :



1.9
2. %9
3. % Bl
4. % 3R

Question Number : 81 Question Id : 7773934698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRU BRS BT faufe g 8

Options :

1.¥ 3

Question Number : 82 Question Id : 7773934699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31 % SR fopar-fasivr & e 9 8-
Options :

1. % gIYRO], ol

Question Number : 82 Question Id : 7773934699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31 3 IR fpur-fagiver & 7 9e §-
Options :

1. % gIYRT, GAolh



Question Number : 83 Question Id : 7773934700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foemt <ifer & foraer A giar 82
Options :

1. % o & Iy WR gT IS ol

2. ¢ Il & 1Y ¥R 1 IS BT

3. % ol & 9qry faue &1

4. % 3Ol & Y AT BT

Question Number : 83 Question Id : 7773934700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foef 9fy & fpgenT At gl 82
Options :

1. % oM & Y WR g1 o @l

2. ¢ a9 & 1Y &R 1 oA &

3. % ool & 9ry faet &1

4. % fot & Ay A= BT

Question Number : 84 Question Id : 7773934701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WIS o1 3frd Ifd-fawdg 8-
Options :

1. ¢ ST + 3G

2. % STl + 3Hq




3. % S + 3Hg
4. % GG + G

Question Number : 84 Question Id : 7773934701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TGS BT 3fd df-fawe 8-
Options :

1. ¢ ST + 3G

2. % ST + 3f1Hq

3. % ST + 3{Fq

4. ® ST + 3fTHq

Question Number : 85 Question Id : 7773934702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TGP BT TN g &-

Options :

1. % el & fomr

2. ¢ Gal & Iy

3. % {7 it aren

4. % et foadt 8 o

Question Number : 85 Question Id : 7773934702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“FGaI BT qHR 38 8-

Options :

1. % Qgal & fo T

2. ¥ Gdl & 1Y

3. % foT il aren



4. * i fadt 8 for

Question Number : 86 Question Id : 7773934703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT BT T faug & forg wrmfies Xreg R-
Options :

1. ¥ YR

2. % D

3. % AR

4. % YIRED

Question Number : 86 Question Id : 7773934703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT T A%’ 395 & fore SRS Wse ITI-
Options :

1. ¢ SIS

2. % ISP

3. % AR

4. % YIRED

Question Number : 87 Question Id : 7773934704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRITHR qUT UfdpR F 3ifaled, SR o7 3 gBT 9T &-
Options :

1. ® AETADPR

2. % JUIADR

3. % JICPR

4. ¥ JHATADR



Question Number : 87 Question Id : 7773934704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YAIBR IYUT 3UfcbR P ffAfad, bR BT 30 T 1S 3-
Options :

1. ® JATEPR

2. % qUIIPR

3. % JEDPR

4. ¢ IYTTADR

Question Number : 88 Question Id : 7773934705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U= e 7 Y- Ui § (iR 1 9e 3-
Options :

1. % JUHT PR

2. ¢ 3JUNY 3TADR

3. % TAY PR

4. % AR SAiDdR

Question Number : 88 Question Id : 7773934705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U= Ged H Y- Ui § iR &1 9a -
Options :

1. % JUHT 3ADPR

2. ¥ U 3ADR

3. % TV 3ABR

4. % IR bR



Question Number : 89 Question Id : 7773934706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffad 7 < &1 yafadrd 78] ¢-
Options :

1. % gRufd

2. % Hgg

3. % GaR

4. ¥ &R

Question Number : 89 Question Id : 7773934706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofifed 7 9 < &1 yafaard 7 5-
Options :

1. ® gIufd

2. % Hgg

3. % TR

4. ¥ JERIST

Question Number : 90 Question Id : 7773934707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
-3R” T fadiH Teg -

Options :

1. ¥ 3ad

2. % 3fe

3. % 3y

4. % 3fq

Question Number : 90 Question Id : 7773934707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

<35 T faolIH ec; 3-
Options :
1. ¥ 3ad
2. % 3G
3. % 3{cU

4. % 3fq

Question Number : 91 Question Id : 7773934708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fpe o1 31 B-

Options :

1. % T HIA BT HG

2. % QHBIEY

3. % HeABIY

4.« GHIW BT Y

Question Number : 91 Question Id : 7773934708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frame @1 orf 5-

Options :

1. % T B BT UG

2. % YA BIEY

3. % P BIEY

4. GHG BT Y

Question Number : 92 Question Id : 7773934709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
- 37&51-3feq” Teg I HT Tat 3 §-
Options :

1. ¢ HHA-dlqdd

2. % 9IRR-Bd

3. ® Ild-dlqd

4. ® JUdsd-dlqdd

Question Number : 92 Question Id : 7773934709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“3eal-3feg” Xeg i &1 Tgt 31 §-
Options :

1. ¢ HHI-dlqdd

2. % §IRR-Bd

3. % T[AE-IEd

4. ® JUd-dladd

Question Number : 93 Question Id : 7773934710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PicT BT — geTaX &1 31 3-
Options :

1. ¢ YT R BT

2. % ¢ 4 gfad fAre

3. % 3D &G gl

4. % GfRHd dg-

Question Number : 93 Question Id : 7773934710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



PicT FeHaHT - eTa &1 31 §-
Options :

1. ¢ YT R BT

2. % ¢ 4 gfad fAre

3. % AP & gl

4. % GfRHd dg-

Question Number : 94 Question Id : 7773934711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I8 W1 gH1 UT| a1 H BT BT G 8-
Options :

1. ¥ HddhTcl

2. * Wity qdHM PIel

3. % Yid BTd

4. % Ul g HId

Question Number : 94 Question Id : 7773934711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 1 g 1| a1e § BTl BT 9 -
Options :

1. ¢ HdPhldd

2. % i gdHH BT

3. % Yo BT

4. % U g HId

Question Number : 95 Question Id : 7773934712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qg ST XeT § | a1 B Tl 1 Ve o8-



Options :

1. % dfer g ®rd
2. % gul gHH B1d
3. % 30l gaH PHId

o\ C
4.« dlchIlcldd ddHTT DI

Question Number : 95 Question Id : 7773934712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a8 S G ¢ | a1ed § &I1d HT 4G o-
Options :

1. % Wi adAH Bret

2. % gUl gHH BId

3. % 30l gaH HId

4. AT daHT BId

Sub-Section Number : 2
Sub-Section Id : 777393242
Question Shuffling Allowed : Yes

Question Id : 7773934713 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

3§ YTS I8 9gd $© RY IS T | H8 9R G Sl BT 3awR qrax Ht 3514 4IRS I &1 fordn| Img 3@ 98 ge 9de- o o i g
Sic &1 SHABR I a1 XeT, A1 36T W, O 95 HH | A WWwdear Ht 96t | T S| AgW[dT &1 Sfad ard I8 | o $S U1 RO
g5 [ T U €1 81 ST, U a1 11 Ue, BRI AR 9ad &, SHICTE HIS WT8d & 8% 4 ol UIS1-9gd Ug fordT dHral T, 98 i g g 93
PP IS BT 71 U YT 81 AT UT 3R 3(d IR JHY UdTTaToll i gl He gidr T, fh it 7 HIS T8 BT 3icd HRdT U7 3R D! oR
SATHR HDIT IS UT| HIZ ST, B ST, T AMHE Bl daTar 1S THETE 96 T &9 ¥ g &1 orrdt o | H YIS 18d &1 I8 ¥eg
T A AT IS T o I1eT I 31K ferge 7Y 7o §f 9 81 T ]|

Sub questions

Question Number : 96 Question Id : 7773934714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

P IR RGP DI Sic BT TR YIh HY UIS JTgd A A1 fham
Options :

1. ¢ ¢or ¥ & foran
2. % By Y HF fora

3. % dprg g HH form
4. % 3fYPHR I HH feran

Question Number : 97 Question Id : 7773934715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS UTS WIS P! [ §1d BT ST AT 33 T
Options :

1. % JHHT

Question Number : 98 Question Id : 7773934716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T GRT IHY UcTaTolt 1 81 He giar Ul T HId 8-
Options :

1. % T9D HH JHI dP TaiT ISTdT |

2. % RGP A U ISHI BIS fear T

3. ¢ TGP §gd ox dP YT ISTdl gl |

4, % TGP U He HA 0 AT

Question Number : 99 Question Id : 7773934717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a{qcf) lﬂ's‘ SIRES P ToR TATHR T HAT UT?




Options :

1. % TR Thdpd UT|
2. % YRR hdl YT|
3. % SIS BT AT
4. ¢ HIDIY ISTT UT|

Question Number : 100 Question Id : 7773934718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR H o1 qrwanaht o1 qui fasar a1 52

Options :

1. ¢ T &1, H3 STeAT, Ui gATHe S damiar 3fe
2. % AT, Pa 3G

3. % geA, foran, ufaaifirar snfe

4. % QGEI-UH, 94T ofe

Question Id : 7773934713 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

3§ YTS I8 9gd $© RY IS T | H8 9R G Sl BT 3awR qrax Ht 3514 4IRS I &1 fordn| Img 3@ 98 ge 9de- o o i g
Sic o1 SHABR I a1 XeT, A1 36T W, O 95 HH | A WWwdear Ht 96t | T S| AgW[dT &1 Sfad arH I8 | o $S T 4RO
g5 [ T U €1 81 ST, U a1 1 Ue, BRI AR 9adM &, SHICTE HIS W18d & 8% 4 ol UIS1-9gd Ug fordm Sl T, 98 i g g 93
PP IS BT 71 U YT 81 AT UT 3R 3(d IRT JHY YdTTaToll i gl He gidr T, fh it 7 HIS T8 BT 3icd HRdT U7 3R D! ToR
SATHR HDIT IS UT| HI ST, B ST, T AMHE bl qaTar 1S THETE 96 T &9 9 g &t orrdt o | T YIS 918d &1 I8 Teg
T A AT IS T o I1eT I 3R ferge 7Y o §f 67 81 T ]|

Sub questions

Question Number : 96 Question Id : 7773934714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P IR GDH P Sic BT TR Y HY UIS F1gd 3 A1 fham
Options :




1. ¢ $RS T & o
2. % By Y HH for

3. % Jbra § o foram
4. % fYHR I w1 ferar

Question Number : 97 Question Id : 7773934715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oI UTE IT8d &1 [y STd BT I AT I3 a2
Options :

1. % UHHI

2. ¥ TR BT

3. % JUAY P

4, % T B

Question Number : 98 Question Id : 7773934716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“3[d GRT JHY YaTTaTon bl gt He gidT U1 T HId 8-
Options :

1. % TRgd HH JHI dPb T ISIdT T

2. % RAP A U IS BIs fear

3. ¥ TG® 9gd X dob UaiT ISTal Xgdl T

4, % TGP U He B 1 T

Question Number : 99 Question Id : 7773934717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GEEEE ﬂ-l'l'st TEd &l ToR TR T Hdl Y1?
Options :

1. % TR Behdl |

2. % JRRJ AT YT




3. % TSTs Bl Tl
4. ¢ HIDHIY ISTAT YT

Question Number : 100 Question Id : 7773934718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR {351 quanatt &1 qui fasar T 52

Options :

1. ¥ TS ST, o SIYT, Ui gAMb o1 qaral 3ffg
2. % QT HeT A

3. % ggHT, feran, wfaaifar sfe

4. % QET-UHET 7 31fS
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Number of Questions : 20
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7773934719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct with respect to inclusion?

Options :

1. #® Most of the children are similar in terms of physical ability and mental capacity.

2. % Each child is unique in terms of physical ability and mental capacity and has a preferential learning style.
3. # Each child is not unique in terms of physical ability and mental capacity.

4. % Each child does not have a preferential learning style.

Question Number : 101 Question Id : 7773934719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTARE & Yae # fafofad 3 9 oH-91 Y9 981 82

Options :

1. % YRING Trgdr 3R ARG &mar &1 2P T ity s Th S gid & |

2.« IRINS Ggdl 3R AMRIe evar &1 =Y T Ude a=a1 fafiy gt 8 iR STt i ifRTy 2eh gt 3|
3. % TR Tivorar 3R AFRYE &mdr &1 2P ¥ Ul o= falkiy el eiar B

4. % TP T D1 AHRT AT et T81 gl 2

Question Number : 102 Question Id : 7773934720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Any loss or abnormality of a psychological, physiological or anatomical structure or functions, generally taken to be at the organ level, is known



as:
Options :

1. # Disability

2. % Handicap

3. ¥ Impairment

4. ¥ Disadvantaged

Question Number : 102 Question Id : 7773934720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol AIARTe, IRIRGIcId AT RIS WA S7al Hraf daelt fpt off aRg &1 g1 a1 SR, Fory ATURTOTG: 377 ¥R IR HHT Sl
8,30 & T Y H S ST g |

Options :

1. % 3ggdr

2. % JMUIAT

3. v QY

4, % 3[qArv/afad

Question Number : 103 Question Id : 7773934721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

.......... is the practice of educating students in an exclusive set up and in a way that addresses their differences and needs through individualized
teaching.

Options :

1. ¥ Special Education
2. % Integration

3. ¥ Mainstreaming

4. # Separation

Question Number : 103 Question Id : 7773934721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



BE B! T AT a1 H 3R 39 aRE A Rfdrd w3 o1 S yomed) @ S safadird fRremr & Arend J 39 Advel 3R
TTLIH TSN TR M S g
Options :
1. ¢ fo=iy fRrem
2. % TDIHRUl
3. % T-IYRT
4. % QUIHU]

Question Number : 104 Question Id : 7773934722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is a myth about inclusion?
Options :

1. #® Inclusion is difficult in regular school.

2. # People with disability are an unfortunate drain on society.
3. # Inclusive education is just another fad.

4. ¥ Tt allows all individuals to develop same way.

Question Number : 104 Question Id : 7773934722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o § ®F-91, THERH & 9R § U B g2

Options :

1. % frafid fooraal & wHeRE geed g |

2. % fIHANTSH THIS UR U F&hwAd 3UdTE § |

3. % goTaRl e R @ SR g g

4. + g it ufdadl &1 gHH U I faer w3 o rgAfd St 8|

Question Number : 105 Question Id : 7773934723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Adopting a Zero Refusal Policy means:
Options :
1. #® No school can refuse government compensation for special need children.

2. ¥ School must categorically announce the number of seats reserved for CWNS and admit all such children if they approach it for the
admission.

3. # School can refuse some children for admission, if more children with CWSN approach to school.

4. ® School can-not refuse any sociopolitical intervention, if it is an inclusive school.

Question Number : 105 Question Id : 7773934723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA SAHR I SO &1 3 a1 82

Options :

1. % I3 fagmed fordh faRiy siaxgerd ard Sl & ot IRBRT G3HTTo! ¥ FTHR o] B AhdT |

%;Wﬁamﬁ?%%ws%ﬁﬂW&H%ﬂﬁﬁﬂwﬁwwﬁﬁwma@u@?Hﬁé@ﬂ%%ﬂwm%ﬁr@mﬁaaﬁ
|

3. % gfg CWNS aTal 31 = fagra o Uaw & fore Tudh &-d g, o faeer oo s=ii & aIRaa ¢ o 31 R Ihdl g |

4. % gfe faeray gurash faeray g ) 98 feadt +f g Iomifae 558U A S96R 6! o) Johdl |

Question Number : 106 Question Id : 7773934724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a meaning of equity?

Options :

1. #® Everyone has access to the same opportunities.

2. % It ensures that all people have the opportunity to grow, contribute and develop regardless of identity.
3. # It is a fair and just treatment to all members of the community.

4. ¥ Tt includes relaxations is assessment and evaluation for some people.

Question Number : 106 Question Id : 7773934724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafoiRad § ¥ -9 fFgerar &1 o T8t 82

Options :

1. % gl B gHE HTHR U BT 5 |

2. % g AT B § i Tt A &1 Uga § W a4, ITeH &7 3R [T &3 1 3R firdl|
3. % g v & 9t wewl & fore 3fed iR <amaRitd gagR 7|

4. ¢ 3T $3 AN & forg FeiRor 3iR Hegier § ge i gt 21

Question Number : 107 Question Id : 7773934725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

...... is a process to teaching and learning for learners with different abilities in same class.
Options :

1. ¥ Differentiated Instruction

2. % Peer mediated instruction

3. % Goal Directed Instruction

4. ¥ Qutcome based Instruction

Question Number : 107 Question Id : 7773934725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U g e ol divarsit ara Rrenfiat & forg sremoe iR SiftRm 6t ufshar g
Options :

1. v fanfea fAdw

2. % UG THRIA G

3. % ey FdRE Adw

4. % OO ST fdwT

Question Number : 108 Question Id : 7773934726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cooperative learning strategy, learners with varied abilities are grouped and regrouped together to share knowledge
with peers?



Options :

1. ¥ Zig-Saw

2. % Circle the Sage

3. # Round robin Brainstorming
4. # Fish-bowl

Question Number : 108 Question Id : 7773934726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrofaRad o 9 food TRt siftnm Xomifa &, fafi giwaanstt arat Rrenfial o) anfat & wre 1 91— & & e Ue 91y 9gas 3R
JiHgeg fora ST 82

Options :

1. ¢ fOF1-9T (Zig-Saw)

2. % Fhd g I (Circle the Sage)

3. % IS AT SARIHT (Round robin Brainstorming)
4. % fBY-913d (Fish-bowl)

Question Number : 109 Question Id : 7773934727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In IEP, SMART goals are made. SMART stands for:

Options :

1. # Specific, Meaningful, Attainable, Responsive, Techno-friendly

2. % Specific, Measurable, Attitudinal, Results-oriented, Techno-friendly
3. # Specific, Meaningful, Attitudinal, Responsive, Time-bound

4. ¥ Specific, Measurable, Attainable, Results-oriented, Time-bound

Question Number : 109 Question Id : 7773934727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IEP H, SMART T&d ST SITd & | SMART &7 312 T 87



Options :

1. # @W, Iﬂﬁjw, &@W, ﬁw‘ﬁa’, THI-Thed! (Specific, Meaningful, Attainable, Responsive, Techno-friendly)

2. % @W, J?I\SI\{GICL QCnI aal\lrg"lﬂ, RS Q’t—m, cFHI-Thedt (Specific, Measurable, Attitudinal, Results-oriented, Techno-friendly)
3. % Wfthe, m, Q_Cpfaﬂ%:ﬁ'[, R ifRyg, TRa-aes (Specific, Meaningful, Attitudinal, Responsive, Time-bound)

4. ¢ WRITh®, AR, 3c9d, Rolee-3MIiRUcs, esH-INS (Specific, Measurable, Attainable, Results-oriented, Time-bound)

Question Number : 110 Question Id : 7773934728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a term referring to lowered capacity or ability of the brain, thus far commonly referred to as mental retardation.
Options :
1. # Specific Learning disability
2. ¥ Intellectual disabilities
3. % Autism

4. ® Neuro-psychological disability

Question Number : 110 Question Id : 7773934728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR &1 Y &TdT a1 argdT &1 Yey &7 aTe T sarad &, oY SR IR gAH-%d & &0 H o -1 S1al g |
Options :
1. % fafRry SiferTH Sr=rerdd
2. ¢ NSH fapanTa
3. % Tl

N

e EN
4. % qEAB-HADI

o O

EEACEINIUGE]

Question Number : 111 Question Id : 7773934729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

refers to adjusting assessments, material, curriculum, or classroom environment to accommodate a student’s need so that he/she can
participate, and achieve the teaching learning goals.

Options :



1. * Enrichment
2. #* Modification
3. ¥ Adaptation

4. % Inattention

Question Number : 111 Question Id : 7773934729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT P I H T b FHTANNI B3 b fow FuRor, Il ursasd, T1 BT & dIdeRUT & JHS B Hefid Brdl g diie 98
T o b, 3R SLATU 3¢ & A& b UTed HR b |

Options :

1. % FIHIBRT
2. % URadH

3. ¥ 3{Jpcld
4. % JUE

Question Number : 112 Question Id : 7773934730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HATS stands for:

Options :

1. ¥ Hearing Assistive Technologies

2. ® Hearing Amplification-Transformation Systems
3. ¥ Hearing Amplification Testing Systems

4. % Hearing Accommodative Technologies

Question Number : 112 Question Id : 7773934730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HATS 1 quf o1 1 82
Options :



1. ¢ feafiar 3iffed CaHIdiSIST (Hearing Assistive Technologies)

2. % fgafar @Wﬁ-m Rrewy (Hearing Amplification-Transformation Systems)
3. % gl tclifthoh e efedT e (Hearing Amplification Testing Systems)

4. % fggfan 3pIASed caIarsiSl (Hearing Accommodative Technologies)

Question Number : 113 Question Id : 7773934731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An assessment procedure in which a student performance is compared to particular level of mastery is known as:
Options :

1. # Comprehensive Evaluation

2. % Norms-referenced assessment

3. % Normative Evaluation

4. ¥ Criterion-referenced assessment

Question Number : 113 Question Id : 7773934731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FefRor ufhar foraw 31 & Texi4 &1 ga-T Ay TR & Udiurdr § & St 3, 3 o1 el Sl 32
Options :

1. % U Heih

2. % AFG-Hehid iR

3. % OH® g Golgich

4. ¥ AFES-Hafid fHuRm

Question Number : 114 Question Id : 7773934732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct for a resource room in an inclusive school?
Options :

1. ¥ A resource room is a separate, remedial classroom in a school where students with educational disabilities are given direct, specialized
instruction and academic remediation.



2. # A classroom where teaching learning resources are stored at a designated corner of the room, and students can access those freely.
3. # A store room, where all the teaching-learning resources are kept safely and issued to teachers whenever needed.

4. ® An attached room to a laboratory, where special arrangements are made to facilitate learning science to children with special needs.

Question Number : 114 Question Id : 7773934732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TrTaRi faTery # TureH we o fore FafeRad o 9 o1H-91 sy gl 82

Options :

1. « Y el [IaTed T ST, GURTHS HEfl § olal e fadmdi S & ure, fatiy 3w 3R Afee Su=R Gar s gl

2. % I Hefl, STa1 AT RATH TA1eH B wefl & iy & § Gufed a1 Si1ar &, 3R 813 39 d&% Wdd ©U 9 Ugd Iad ¢ |

3. % g8 USRUI Hhd, ogl T+ S1eamu--S1frTH T IR 0 ¥ W IMd g 3R g T saxgssdi gidl 7, fRiep! & o} fhw oird g |
4. % TONTRITA ¥ ST &, STg! [ IRl dTd Sl B! (a9 AR &1 gaeT & g o= ey &1 ot g |

Question Number : 115 Question Id : 7773934733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does the partnership with parents help an inclusive school teacher?

Options :

1. #® Parents have an eye of functioning of teacher.

2. # Parents take responsibility of completion of homework.

3. ¥ Parents share vital information about child, which helps teacher to understand the child.

4. ® Parents can be replaced as teachers after sometimes.

Question Number : 115 Question Id : 7773934733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A1 & FrRieRT & A1y fordt wmmasit faemer fRigfe &1 ol Hag ol 62
Options :

1. % TR/ BT HRIYUTE! IR ATdT-fUdT o 7oR gl |

2. % ATA1-OdT T8-3naTeTd QT Ra &1 foriieRt ad ]



3. ¢ HIAL-UdT 9= & TR W Aeadqul TSGR A= &1d 6, or & &1 o= &l IH7g- | Hag Hadl g
4. % $S JUY 91¢ AI1-Ud1 &I e & w9 H gga off Ihdl g

Question Number : 116 Question Id : 7773934734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not an effective teaching-learning strategy in inclusive classroom?
Options :

1. # Collaborative learning

2. # Cooperative Learning

3. ¥ Peer monitoring

4. ® Peer modeling

Question Number : 116 Question Id : 7773934734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & @ H1-, Turash Fem § guTdt sreamoH- siftems oy gt 82
Options :

1. % gganTgul SifrTy

2. % FgHRI fferrH

3. ¢ JHDE TR

4. % gHGE ASTeN]

Question Number : 117 Question Id : 7773934735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a strategy in which a class is divided into two halves, two teachers teach the both groups same topic but in different ways?
Options :
1. # Peer Teaching
2. ¥ Parallel Teaching
3. # Station Teaching



4. ® Pair Teaching

Question Number : 117 Question Id : 7773934735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

; TS YOI § Ford den &1 &l fewal & fauford fosan oman B, 3t Rieres <1 wiggl &1 U € faw s srem-srent it § UgTd
I

Options :

1. ® JHDE AT

2. ¢ GHMFIR 3{eAT0

3. % XA AT

4, ® g YA

Question Number : 118 Question Id : 7773934736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Vidhya Pravesh" is a programme:

Options :

1. # to prepare teachers for welcoming new children

2. % to train teachers for early identification of disabilities
3. ¥ to prepare early age child as school ready

4. ® to train children with special needs for inclusive classroom

Question Number : 118 Question Id : 7773934736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 yaR fob TRE H1 HRIHH B2

Options :

1. % U g & WHTd 8q RI&®] B R HAT

2. % 3Gl Bt MY UgaH o fRIerb! ol URIfed B
3. ¢ HHIY S I B AT 8 TR HAT



4. % AR FHefl g faRIy TaRgerdl ard S| &l Uriférd H=

Question Number : 119 Question Id : 7773934737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The idea of establishing school management committee (SMC) is an outcome of:
Options :

1. ¥ DPEP

2. % SSA

3. ¥ RMSA

4. ¥ RTE Act

Question Number : 119 Question Id : 7773934737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fyener vee Ifa (SMe) Y R &1 foaR fhyest ufvoms g2
Options :

1. # fSra vrufires Riem SriH (DPEP)

2. % a1 & S (SSA)

3. % P Arenfie e ifHam (RMsA)

4. ¢ TR1ef ISR FATH (RTE Act)

Question Number : 120 Question Id : 7773934738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Interpersonal communication generally takes place:
Options :

1. ¥ between two individuals.

2. % Within the individual.

3. # among teachers only.

4. % among learners only.



Question Number : 120 Question Id : 7773934738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Siqdufdis YR YIYRU: B gl

Options :

1. ¢ & ikl & |

2. % fdd & HidR

3. % ohad &l & o
4. % pad RIgMAG & o
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Group Number : 7
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Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
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Group Marks : 20
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Discipline2
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Section Number : 1
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 777393244
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7773934739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not an appropriate way to prepare children for inclusive classroom?
Options :

1. ® They need to be prepared to welcome every new child.

2. ¥ They should be allowed to form group of their own choice.

3. # Teacher should encourage group formation with diverse learners.

4. ® They need to recognize that every child learns in his/her own way and all children learn differently.

Question Number : 121 Question Id : 7773934739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & I DIH-31, TH1aRM Ha & o7t S B TIR S HT Sugad dId] -Tol 87

Options :

1. % I gX U g & WA 8 TR HRAM P o ¢ |

2. v 38 U UG D1 JHg &+ D1 3gafd ¢ St afgul

3. % R ol fafqy Rignfiat o wry g fAafo &) iienfed @< =gl

4. % 3 UG UGTHA DI SR g b 8% I=T 30 atep T WraarAfiact 8 ok 9t a2 a1 ave @ dhad B

Question Number : 122 Question Id : 7773934740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the approach in which a teacher can change the plan, sometimes with notice and sometimes without?
Options :
1. ¥ Empowerment

2. % Collaborative learning



3. % Cooperative learning
4. ¥ Flexibility

Question Number : 122 Question Id : 7773934740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ Tg 3 B o Riere st aem gax SR w2t fom e o Ao sed adhar g |
Options :

1. % HERIIDHRUT

2. % Gyl 3iferTy

3. % GgbRI fTH

4. ¢ AT

Question Number : 123 Question Id : 7773934741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the ear vibrates in the process of hearing?
Options :

1. # Outer ear

2. # Ear Canal

3. % Ear Drum

4. % Cochlea

Question Number : 123 Question Id : 7773934741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qUT UfchaT § Ul &1 BIH-J1 U U Bl 52
Options :

1. % ST ol

2. % &uf Al

3. ¥ U g



4. % PHUldd

Question Number : 124 Question Id : 7773934742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which structure connects middle ear to the nose?
Options :

1. # Cochlea

2. ¥ Eustachian Tube

3. % Incus

4. % Semi-circular canal

Question Number : 124 Question Id : 7773934742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T TET Hegah Ul ol ATRIeT § Sied 82
Options :

1. % Hufad

2. ¥ gl At

3. % U (TH9)

4. % 3feiqd AT

Question Number : 125 Question Id : 7773934743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following, sound cannot travel?
Options :

1. ® Air

2. % Water

3. % Steel

4. ¥ Vacuum



Question Number : 125 Question Id : 7773934743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiad 7 9 fead afy 31151 78t &% It g2
Options :

1. * gdl

2. ® 9d

3. % gWId

4. ¢ fqafq

Question Number : 126 Question Id : 7773934744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Deaf' people mostly have:

Options :

1. ¥ profound hearing loss

2. % Mild hearing loss

3. % Moderate hearing loss

4. # Severe hearing loss

Question Number : 126 Question Id : 7773934744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR AN B e B qEI g gl
Options :

1. ¢ 3ffc TR a0 gIi

2. % Gl Yqu I

3. % HYH Hqu1 g1

4. % TR $qur g1



Question Number : 127 Question Id : 7773934745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of hearing loss can occur due to an excessive build-up of earwax:
Options :

1. * Mixed hearing loss

2. % Symmetrical hearing loss

3. % Sensorineural hearing loss

4. % Conducive hearing loss

Question Number : 127 Question Id : 7773934745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HUIRIRI (STRART) & AP THIG P HRUT b YR H1 40 811 81 obell 82
Options :

1. % Ty gaur gifa

2. % AT Haul giiA

3. % Ydg ARSI yaur giA

4. YATGDHIY YUl gIi+

Question Number : 128 Question Id : 7773934746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which test helps the audiologist to know that how well the eardrum moves and can help find middle ear problem?
Options :

1. ¥ MEMR Test

2. % CAEP Test

3. ¥ Tympanometry

4. % ASSR Test

Question Number : 128 Question Id : 7773934746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

-1 T&0T 40T faTTt 1 J§ S & GG Hdl § 1o HUUCE fha-T 3ad] ave o Uaa HRdl § 3R TRIEUN HHH U] Bt THRT BT Il
= H i geTae B gl 82

Options :

1. ¥ MEMR TRI&01

2. % CAEP U1&f0T

3. ¢ CISHAHE

4. % ASSR URI&m

Question Number : 129 Question Id : 7773934747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Brainstem Auditory Evoked Response (BAER) is a test which checks:
Options :

1. ¥ the brain’s response to sound

2. % the inner ear response to sound.

3. # cochlear response to sound.

4. ® child's overall response to sound

Question Number : 129 Question Id : 7773934747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS 3iTTS e 3digs R¥UI (BAER) U THI UGB &l ol ffd Rl g
Options :

1. ¢ &1 & Ufd ARTsh BI 3gfeban

2. % Ff o Ufd HTdR® HUi srfehan

3. % @ o Ufd Buiadf erfopan

4. % (1 &b Ufd S DI GHA b a1

Question Number : 130 Question Id : 7773934748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a sign of hearing impairment?

Options :

1. ¥ If a baby turn head towards a noisy sound before the age of 4 months.
2. # By the age of 12 months, the baby still has not uttered a single word.
3. # The infant does not appear to be startled by a loud noise.

4. % The infant only seems to be aware of certain sounds.

Question Number : 130 Question Id : 7773934748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfIRId # & SI9-91, 4901 QN T Tobhd o) o7

Options :

1. ¢ TS 5= 4 HEH 1 37 J U8 UR @i B 3R 3701 RR gATT 8|
2. % F A 12 Ao & 39 dob, 3t ot T ot 2reg 5T AT 5

3. % T AW @ § Aepar g el fewrs |

4. % Y Pad $o @RIl S Ul god @S i

Question Number : 131 Question Id : 7773934749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An ENT specialist means a doctor specialized in:
Options :

1. ® Ear and Nose Treatment

2. % Ear, Nose, Throat

3. % Ear's Noise Testing

4. ® Ear's Noise Treatment

Question Number : 131 Question Id : 7773934749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o} TH-A1 -7 (ENT) fa=ies &1 o T Sider § forem H ORI o 1 g



Options :

1. % BT 3R TTh & AT
2. ¢ &M, AT, T

3. % B ob 39 TRI&UT

4. % B & 9 IYAR

Question Number : 132 Question Id : 7773934750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A device fills the outer part of the ear canal and can be seen is known as:
Options :

1. % BTE hearing aids

2. # CIC hearing aids

3. % CROS hearing Aid

4. ¥ ITC hearing aids

Question Number : 132 Question Id : 7773934750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

USR] BT ATCID] b e HIT B! HRAT 8 SR U Q@I SN Ihdl 6, P S I A AT AT 8
Options :

1. ® BTE 4dU1 I4

2. % CIC 49U g7

3. % CROS ¥aul g

4. ¥ ITC 4dur

Question Number : 133 Question Id : 7773934751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BAHA stands for:
Options :



1. ¥ Bone Assisted Hearing Aid

2. ¥ Bone Anchored Hearing Aid

3. % Bilingual Anchored Hearing Aid
4. # Bilingual Automated Hearing Aid

Question Number : 133 Question Id : 7773934751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BAHA &1 01 31 g2

Options :

1. % 919 3R s fTafTT TS (Bone Assisted Hearing Aid)

2. ¥ 4 an—s‘ %ﬂﬁﬂ US (Bone Anchored Hearing Aid)

3. % EITE{%"I\’:‘I?T Qab_ef fgaf s (Bilingual Anchored Hearing Aid)

4. ® aﬁm&lﬁ 3eAcs feafar US (Bilingual Automated Hearing Aid)

Question Number : 134 Question Id : 7773934752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the sound coming from a hearing aid is not loud enough, which of the following parts of an aid need to examined first?
Options :

1. # Sound adjusting switch

2. # earmold and tubing

3. ¥ Microphone blockage

4. ® Battery

Question Number : 134 Question Id : 7773934752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Yqur T3 I 3 aTel TS Tt ol el &, o 39 & Faferiad # @ forg TR ot g Wi 3t o = w?
Options :
1. % g AN (88 TeuikeT) g




2. ® SIRHAIGS 3R [T
3. ¥ ATSHIBH SilbSl
4. % g

Question Number : 135 Question Id : 7773934753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Learners among which the following categories, are also termed as spatial learner?
Options :

1. # Verbal learner

2. # Kinesthetic Learner

3. ¢ Visual Learner

4. % Auditory Learner

Question Number : 135 Question Id : 7773934753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafea & 3 forg oot & Rienfial o vt Riemeif «f w1 S g2
Options :

1. % Mg fRremff

2. % Tifqarye Rremff

3. ¢ T Rigndf

4. % gyqur fRyemff

Question Number : 136 Question Id : 7773934754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ability to recognize speech quickly, which is important during everyday conversation is known as:
Options :

1. ¥ Auditory working memory

2. % Auditory processing speed



3. % Auditory attention

4. # Auditory working process

Question Number : 136 Question Id : 7773934754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qT DI Sec! J UgTMA B &N, S &b Ideid & SRE He@yuie, & ¥U H o oIl 8|
Options :

1. % yqu B Wi

2. % YUl Yeh HUT Tl

3. % qUl &+

4. % Yqu B Ufesar

Question Number : 137 Question Id : 7773934755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ability to detect differences between specific speech sounds comes under:
Options :

1. # Auditory Awareness

2. % Auditory Identification

3. ¥ Auditory Discrimination

4. % Auditory Comprehension

Question Number : 137 Question Id : 7773934755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARy o Gl F fT IR BIUAM T BT &mal | & 3fclid 3Tl g
Options :

1. % HdUI SITRschdl

2. ® YUl g

3. ¥ 49U HGHIG




4. % Yqur ey

Question Number : 138 Question Id : 7773934756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ability to change speech production based on information you get from hearing yourself speak is known as:
Options :

1. ¥ Auditory Self-Monitoring

2. # Auditory Identification

3. % Auditory Association

4. # Phonological Awareness

Question Number : 138 Question Id : 7773934756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & SAd §U A I U TSR] & YR R AG AU DI I HI AT Dl H®qH I oar gl
Options :

1. ¢ 49Ul W-ATRH

2. % HdUI Ugdld

3. % Yqu AT

4. % FIIHD SRS

Question Number : 139 Question Id : 7773934757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of following auditory learning approach, it is believed that discussions and conversations can be important in helping auditory learners
thrive?

Options :

1. % Repetition

2. % Including social elements
3. ¥ Verbal discourse

4. ¥ Multiple learning outlet



Question Number : 139 Question Id : 7773934757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mﬁ@rmWaﬁmiﬁaﬁwﬁaﬁww%ﬁ?wﬁmﬁw@ﬁﬁwm%ﬁﬁhﬁ?aﬁﬂaw&
)

Options :

1. % gRIgR

2. % AT gch] ol JiHfd Bl

3. ¥ QMfedd U

4. % §g 3T 313l

Question Number : 140 Question Id : 7773934758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Family is the biological social unit composed of husband, wife and children." is the definition given by:
Options :

1. # Kingsley Davis

2. # Sigmund Freud

3. ¢ Eliott and Merrill

4. % Robert Bierstedt

Question Number : 140 Question Id : 7773934758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"ORGR Ufd, Uelt 3R =it & o+t Sifdes arifois T 71" ERCARIER RN
Options :

1. % fdbrad Sfay

2. % RETHS Bhras

3. ¢ Sferge SR AR

4. % ¢ dRETS
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Question Number : 141 Question Id : 7773934759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohan has a joint family including his parents, unmarried children, married son, his spouse and their offspring, and an elderly dependent of his
wife, this is a type of family known as:

Options :



1. ¥ Extended family
2. % Nuclear family
3. % Mixed Family
4. ¥ Family Complex

Question Number : 141 Question Id : 7773934759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e %1 Uga URAR 2 R Su® Tra-Rid, sfyared s=, Rarfed 1, Se ueh oiR St Tam, iR 376 Uel) 1 U gt S 2,
g U1 YR T URaR & o & = | ST ofTar g

Options :

1. ¢ fa¥gd URaR
2. % Thd URAR
3. % fofyd gRar
4. % gRIR IRIR

Question Number : 142 Question Id : 7773934760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family made up of one wife and more than one husband, and the children, either born or adopted with each one of them, this is a characteristic
of:

Options :

1. # Monogamous Family
2. % Polygynous Family
3. ¥ Polyandrous Family

4. % Consanguine Family

Question Number : 142 Question Id : 7773934760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % THITHA! URAR
2. % 9gUd! URAR

3. ¥ 9g0fd URaR

4. % g URAOR

Question Number : 143 Question Id : 7773934761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The acts of engaging, involving, and lifting up the voice of families throughout all areas in child welfare is known as:
Options :

1. # Family engagement

2. % Family involvement

3. % Family upliftment

4. ¥ Family empowerment

Question Number : 143 Question Id : 7773934761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9T Hearor § gt &3 H IRaRT & TS &1 G B, MHA FRA MR ISA B FA DB & ©UH A1 o1 g
Options :

1. % OIRaRe Je1d

2. % GRAR JgHIRTar

3. % URIR IUM

4. ¢ URAR RIfaqhul

Question Number : 144 Question Id : 7773934762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"Coming together is a beginning. Keeping together is progress. Working together is success." This statement given by:
Options :



1. # P. Nilsen
2. % C. Walsh
3. % J. Durlak
4. ¥ Henry Ford

Question Number : 144 Question Id : 7773934762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Th Y 3T XS § | 1Y &1 Wi & | T U1y HTH BT Yhard! ¢ 1" T8 Y [ gR1 ufaurfed foar man g2
Options :

1. % di. e

Question Number : 145 Question Id : 7773934763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not true about the inclusion of children with special needs in India?
Options :

1. % Availability of resource teachers

2. % High enrollment of girls with CWSN

3. # Lack of resources for CWSN in schools

4. % Barrier free environment in school

Question Number : 145 Question Id : 7773934763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefad § ¥ oH-a1, YRd H foQy sirawgsar aTa s=ii &1 A H31 5 IR A It 7a1 82

Options :
1. % FuTe fRigfep] Bt Jueisud




2. ¥ CWSN dTcll ds(dbdl BT I ATHIB
3. % faereal § CWSN & fore damet &1 3iuma
4. % faeTer § QYT Yo aTdTaRl

Question Number : 146 Question Id : 7773934764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following agency is responsible ensuring adequate number of trained teachers to deal with CWSN?
Options :

1. ¥ RCI

2. % NCTE

3. % NCERT

4. % NIOS

Question Number : 146 Question Id : 7773934764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed & 3 SH-H Toidt cwsN ¥ fder & forg yate wem & uiRifard et & g =7 8g FeR 87
Options :

1. ¥ RCI

2. % NCTE

3. # NCERT

4. % NIOS

Question Number : 147 Question Id : 7773934765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A multilingual classroom is a classroom:

Options :

1. # where teachers come and speak in different languages.

2. ¥ with learners having more than one language at their disposal (irrespective of level of competence),

3. % where three language formula is implemented.



4. ® where teachers prefer to translated content to English language.

Question Number : 147 Question Id : 7773934765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TEUTS! F&fT fh e RE B BT BIdll &2

Options :

1. % oTg] e 31d § SR fafid yrmaft § &ied g

2. ¢ Raiia & U I e & te ¥ 31 Yo € (@radl & TR A W)
3. % ST BT 9 o fohar T g |

4. % STg] Rref SIS HTST &1 SraTfed et Ueig ovd g

Question Number : 148 Question Id : 7773934766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How can the attitude of community towards disability be improved?
Options :

1. % Through awareness campaign

2. ® Monitoring media portrayals of people with disability

3. # Informing about policies for welfare of disabled persons

4. ® Through making legal compulsions and acts.

Question Number : 148 Question Id : 7773934766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 149 Question Id : 7773934767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to RPWD Act, 2016, what percent of seats are reserved for persons with benchmark disabilities in all Government institutions of
higher education?

Options :

1. % 3.00%
2. % 350%
3. % 4.50%
4. 5.00%

Question Number : 149 Question Id : 7773934767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RPWD TITH, 2016 & TR, I e & Guft TRBRY TR 7 saueh fasai safaqat & fo faramit ufaera Wi smefa &2
Options :

1. % 3.00%

2. % 3.50%

3. % 4.50%

4. ¥ 5.00%

Question Number : 150 Question Id : 7773934768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not correctly depicting need of family for you as a special educator?

Options :

1. ® Family members and special educator should act like a team player.

2. % Families know their child best and you can ask them questions about services or resource available/required.
3. ¥ The family member cannot explain the use of equipment, which can help children.

4. ® You need to share the unbiased and honest information about child with family member.



Question Number : 150 Question Id : 7773934768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 S-a1, faRy e & =0 § a1ud o uRaR &1 Saxadhd & Tal ¢ 3 Tel aidl 82

Options :

1. % gRaR & I&d! 3R fa2 fre/d &1 A4 & Yo B ke (YHE H) HTH HA1 AUl

2. % ORAR 30 T P T4 3T dRE S & 3R 3T IT U/ 3T Jarsif a1 Tqredi & aR J Uy IS 9hd g |
3. ¢ JRAR BT e IUBHRUT & IUINT &1 IRST Tal HR Jbdl 8, Ol 9] Pl AGE B Jhdl g |

4. % 319! URAR & Y & 1Y I & TR H e 3R SAMGR BRI A1 HRA B HTaRIHdT § |

Question Number : 151 Question Id : 7773934769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Family Empowerment Scale (FES), which among the following is not among three levels of reflecting empowerment?
Options :

1. % School, reflecting about child's ability to cope up with diverse situation in the classroom.

2. % Family, reflecting the parent's ability to manage day-today situations.

3. # Service System, reflecting the degree to which the parent is able to work with the service system.

4. ¥ Community/Political, reflecting the parent's advocacy for improved services for children with disabilities in general.

Question Number : 151 Question Id : 7773934769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

uRaTRes i1l TaMT (FES) H, Rafeiad & @ SiH-91, gufdie<ur o) g2 arel i TR 8 9 Ue el 82
Options :

1. ¢ faemeg, wen o fafay uRfRufaat @ fuen & fore =2 ot et &) <wfar 81

2. % gRaR, ATd-fAd ot figa-ufafea o fRufaal &) ysfda H= &) emar & guiar g

3. % Qa7 yurett, 39 St &1 quiieht 8 fSoraw Arar-fodr Jar yormedt & Ir &1F &34 & Je g |

4. % JHSTGRTSHIS, I U § faewaiT s gq dgdR Jarsit & forg Arar-foar & e &1 g2iidr |

Question Number : 152 Question Id : 7773934770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following statement is true about importance of family for a disable child?

Options :

1. #® Family has no role in providing inputs and information about child to the healthcare professional.
2. % Family is the only support system for managing a disabled child.

3. ¥ Accept the family as a constant in the child’s life; caregivers and service systems may come and go

4. % If family is there, a child does not require any specific professional support.

Question Number : 152 Question Id : 7773934770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

famaiT = & fog aRaR & A5@ & IR 8 FEfiied & 9 $1F-91 6 981 87

Options :

1. % OTRY 141 IR P §= & aR H §9YC 3R THBR! T&H &3 H URAR BT Dis YT 181 gidh o

2. % a9 & Uy & o URaR g TeHE WeRI BT /|

3. ¢ T & Sitgd H URAR &1 R & U & WHR BH; U B dlal 3R JaT JOTerr 31 3R S Fabval g |
4. % g URER B, 9 9= ! forxlt oy URier Gemadt &1 sawaddr T8l gl 8|

Question Number : 153 Question Id : 7773934771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"People with disability and their families/allies have the skills, knowledge and confidence to be active and valued members of community." The
statement reflects which focus area of family advocacy?

Options :

1. # Strength of School

2. # Strength of Community
3. # Strength of Advocacy
4. ¥ Strength of family

Question Number : 153 Question Id : 7773934771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YT AT 3TR ISP URARIIEIIR F UMY TG & Wishd 3R Heda Yewd B 1 HId, T 3R TARIYN 81" I8 YU IRaR
T & o TRyl &5 P g=idl 82

Options :

1. % foemeg &t amd
2. % UG $I oA
3. ® WGR] &I Ay
4. ¢ URAR & 9

Question Number : 154 Question Id : 7773934772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is true about community-based rehabilitation process?

Options :

1. ¥ Families of disabled and other marginalized children may also be part of a community-based organizations.
2. ® Families of normal children should be the part of a community-based organizations.

3. # Families of disabled children should be marginalized in community-based organizations.

4. ® Families of marginalized children may be excluded to be part of a community-based organizations.

Question Number : 154 Question Id : 7773934772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SMUTRT Yar Ufshar o IR H Faferad # J &H-91 U Jgl 82

Options :

1. ¢ fasmaiT 3R g IUfrd s & ufRaR ot e Smutid Wi+l &1 igwa 81 ¥avd g |
2. % GG dedl &b GRAR Dl GYGM-NYTRT A1 o1 fged g4 Al

3. % fqDh i Sl & URART DI HG-SNUTRT ATa-l § Sulerd fovdn ST =gl

4. % IURA S=A o URARI BT G- SMUTRT TS BT T 7 J dTex 34T ol Ihal 5 |

Question Number : 155 Question Id : 7773934773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following is not a myth about rehabilitation in community?

Options :

1. ® Rehabilitation is required only for severe categories of disabilities.

2. % Patients are isolated during the treatment/therapy.

3. ¢ Rehabilitation encourages a sense of responsibility toward holistic health in patients.

4. ® All types of rehabilitation programmes are same.

Question Number : 155 Question Id : 7773934773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiyd & § ®F-91, 99er § gHa & 9 § Te {181 82

Options :

1. % a1 had famaiTd &t TR 3o & forg smawa ]|

2. % IUAR/MAfHT & SR Aol BT 37el & a1 ST & |

3. ¢ TaNT IR & Y W@red & Ufd fSeRT & U1 & Tiened &Rl & |
4. % Ft UHR & TaTY HRAHH A g

Question Number : 156 Question Id : 7773934774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an essential quality of a community rehabilitation worker?
Options :

1. #® Punctuality and Discipline

2. ¥ Patience and Empathy

3. # Great speaker and influencer

4. ® A good physiotherapist

Question Number : 156 Question Id : 7773934774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ H1H-a1 Ieiie giafg sl o1 sfFard o g2

Options :



1. % JHIMET 3R IR
2. ¢ 9 3R werIYfa

3. % T Iadl 3R YHTIRITE
4. % 331 Yifas Ffecas

Question Number : 157 Question Id : 7773934775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Health of personal assistants, parents and siblings of children with disabilities" falls under which group of elements of rehabilitation process?
Options :

1. ¥ Promotive

2. % Preventive

3. # Curative

4. ® Rehabilitative

Question Number : 157 Question Id : 7773934775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o aiT gl & AR TErI!, HIdT-UdT 3R HIS-S81 o1 WA T7a Ufehal & dwl & b g & 3favid 3Tl g2
Options :

1. ¢ N8 D

2. % fHaR®

3. % JUERTAS

4. % a9

Question Number : 158 Question Id : 7773934776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Title of the CBR manual published by World Health Organization (WHO) is:
Options :

1. * Community-based rehabilitation (CBR) is community: An Action Plan



2. ¥ Training in the Community for People with Disabilities
3. ¥ Community Involvement and Ownership

4. # Sustainability and Self-advocacy: Community's role

Question Number : 158 Question Id : 7773934776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%y TRy TTeT (WHO) §RT UTRId CBR faHTae o1 e o 32
Options :

1. % QR MYTRT GAaT (CBR) THEH 8: Ueh BT Aot

2. ¢ fqaediv ATl & fog T | ufieror

3. % HEIR® UFTERY 3R w@fira

4. % FROXAT 3R WG-URd! Te™ 3t YHHT

Question Number : 159 Question Id : 7773934777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Barriers caused by language and medium of communication are known as:
Options :

1. ¥ Environmental barriers

2. % Attitudinal barriers

3. ¥ Technological barriers

4. % Economic barriers

Question Number : 159 Question Id : 7773934777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTT 3R TR & ATTH P BRI G dTelt ST ol o1 HgT Sl 82
Options :

1. % giaRur §Iemd
2. % TR STem



3. & Th-ilp! STYTT
4. % i FryTy

Question Number : 160 Question Id : 7773934778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scheme is associated with creating a barrier free learning environment?
Options :

1. ¥ Sugamya Bharat Abhiyan

2. # Deendayal Disabled Rehabilitation Scheme

3. % Divyanjan Swavalamban Yojana

4. # Gyan Prabha

Question Number : 160 Question Id : 7773934778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffead & | -3 GroHT STt Fod R0 ITareRr s ¥ Jefid 82
Options :

1. ¥ IR YR S

2. % EHGATd A aiT gai a1

3. % faSHITTo Wraeis Ao

4. % JEYH
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Question Number : 161 Question Id : 7773934779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not among five key components of CBR matrix suggested by WHO?
Options :

1. # Health

2. % Education

3. * Empowerment

4. ¥ Skill

Question Number : 161 Question Id : 7773934779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

froafafaa § § SH-91, WHO §RTgE 7TW CBR Afee & Uik Ud gedh! § 3 T 181 82




Options :

1. % WY

2. % g

3. ® YRIKITHIUT
4. HIRE

Question Number : 162 Question Id : 7773934780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct according to UNISEF about inclusive education?
Options :

1. ¥ Every child has the right to quality education and learning

2. # Every disabled child has the right to quality education and learning

3. % Every marginalized child has the right to quality education and learning

4. ® Every normal child has the right to quality education and learning

Question Number : 162 Question Id : 7773934780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 18 & SR H A% (UNISEF) & SR FEfied o @ &9 91 &Y= 81 82
Options :

1. ¢ U I P T[UraTyu] R 3R ST T SHfRpR 3

2. % YAS [Jpai/ e a= o uraxrgut fRem 3R HfTH H7 ifrpR 7
3. % YA dfd o= B oraryul e 3R S1fem &1 ISR §

4. % TS AT S BT OIGAU! FRI&T 3R 1A o7 PR §

Question Number : 163 Question Id : 7773934781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Sustainable Development Goal is taking about ensuring quality inclusive education?
Options :



1. # Goal 3
2. ¥ Goal 4
3. % Goal 6
4. % Goal 9

Question Number : 163 Question Id : 7773934781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafea §  F 1 SRy fder ded, Toraxgul T fRien g s F IR A 82
Options :

1. % &3

2. ¥ A& 4

3. % d&U 6

4. % &9

Question Number : 164 Question Id : 7773934782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cooperative learning strategy, a more knowledgeable learner shares his/her knowledge with peer?
Options :

1. % Zig-Saw

2. ¥ Circle the Sage

3. % 3- min Interview

4. ¥ Fish-bowl

Question Number : 164 Question Id : 7773934782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol # 3 forg TR siferms oI 7, 31 gfas Rl srom 3 o1 wifl & 1y Arei Hrayadl 62
Options :

1. % forr-ar



2. ¢ gbd ¢ Wl
3. % 3. M SRy,
4. % fhyarsd

Question Number : 165 Question Id : 7773934783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A teaching approach which tries to meet the learning needs of learners with diverse needs considering their strengths and weaknesses, is known
as:

Options :

1. ¥ UDL

2. % INCLUSION
3. ® IEP

4. ¥ DI

Question Number : 165 Question Id : 7773934783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 RIEI0T SURTH &I T FEd &, off (a1 STaadarsdl arel fRienfiat ot @ et 3R SHHSIRG! & & H [ad §T 3AH! HTIH
TGS AT BT R B BT TIT BT 82

Options :

1. % UDL

2. % INCLUSION

3. % [EP

4. ¥ DI

Question Number : 166 Question Id : 7773934784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When you identify a child with disability, which of the following is correct sequence of teaching strategy?
Options :

1. #® Plan, Assess, Do, Review



2. % Plan, Do, Assess, Review
3. ® Assess, Do, Plan, Review

4. ¥ Assess, Plan, Do, Review

Question Number : 166 Question Id : 7773934784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS 3T ot faepetiTT s bt Ug= SR/l &, ol Fafeiad fasedl § T S e Jurifa &1 I8t H 72
Options :

1. # TSI, 3, B, JHTE

2. % IS, BT, Mha, THie

3. % 3T B, T, THiem

4. ¢ B, QST B, JHIET

Question Number : 167 Question Id : 7773934785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the most appropriate example of assessment practice for an inclusive classroom?
Options :

1. #® All students are asked to appear in oral examination.

2. ® A teacher makes a question paper with different types of test items like MCQ, Short answer, essay type.
3. ¥ A teacher uses observation, discussion, quiz, performance and group tasks for assessment.

4. ® A teacher asks children to choose the questions of their choice from a question paper and write the answers.

Question Number : 167 Question Id : 7773934785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o § &1 THaRN He & Ay sdHad 3N &1 Jad Sugdd 3alevul g2
Options :

1. % quft B @t Mgs wsien & 96 &1 e faar sar g
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Question Number : 168 Question Id : 7773934786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following most suitably defines resource room in an inclusive school?

Options :

1. #® A special room to store equipment and devices.

2. ¥ A classroom/special room, where resources are arranged to facilitate individualized education programme.
3. % A classroom with disabled friendly furniture.

4. ® A classroom/special room, where resource persons provide counseling to children with special needs.

Question Number : 168 Question Id : 7773934786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & @ & 9 fasea TrTaRh faurag # Tureq $ef &) Jed Iugad U I TR 6l 82
Options :

1. % IUHR 3R T DI T & oy faiw o |
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4. ® P&V Fe, STeT Tare-ufad (RO v faRiv siazaear ard st ol WA od B

Question Number : 169 Question Id : 7773934787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is it important to partner with parents for an inclusive school teacher?
Options :

1. #® Teacher gets some time to think and reflect about pedagogy.

2. % It helps to share pedagogical responsibilities.

3. # It helps to train parents to handle their children in the absence of teacher.



4. ¥ Teacher gets a better understanding of needs and family culture of the child.

Question Number : 169 Question Id : 7773934787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forft ARl Yo a e & forg Arar-fdr & Wy rRieR} ST o) eyl /2

Options :
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Question Number : 170 Question Id : 7773934788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following strategy helps in getting instructional support from a higher-class learner?
Options :

1. # Collaborative learning

2. ¥ Cross-age peer support

3. ® Peer tutoring

4. ® Peer modeling

Question Number : 170 Question Id : 7773934788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9S-I oMt Sw-9uft & fRremff @ e Terar U w1 # Wil e Sl 82
Options :

1. % gganTqul SiferTH

2. ¢ 3URY-3(TY A3 GEghT (h19-Tsl UIR JuIc)

3. % i fR1eor (UheR e

4. % GIIR ATSfeiT




Question Number : 171 Question Id : 7773934789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not among three principles of inclusive communication?
Options :

1. ¥ Connectedness

2. % Empathy

3. % Culture

4. % Empowerment

Question Number : 171 Question Id : 7773934789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol # 3 o HaRh TaR & oiF Rigidl 8 3 761 82
Options :

1. ¢ ggaddl

2. % gAY

3. % GEpid

4, % GBI

Question Number : 172 Question Id : 7773934790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why are the interpersonal skills important for a teacher?
Options :

1. # These skills include only verbal communication.

2. # Teachers want that student clarify the concept on their own.
3. % These skills help in making the class lively.

4. % Such skills don’t consider individuals' needs.

Question Number : 172 Question Id : 7773934790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 173 Question Id : 7773934791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a child having clarity about a concept is associated with another child having some difficulty in same concept, this approach is known as:
Options :

1. # Cooperative Learning

2. % Child to Child approach

3. % Children supporting Children

4. ® Collaborative Learning

Question Number : 173 Question Id : 7773934791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GEHRI HITH

2. ¢ = J T HI BB
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4. * FgINYU 3fYTTH

Question Number : 174 Question Id : 7773934792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is flexibility important in an inclusive classroom?
Options :

1. # To control the anger of children and self

2. ¥ To accommodate needs of all types of children

3. # To make an effective lesson plan in advance

4. # To teach every day with a different strategy

Question Number : 174 Question Id : 7773934792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATl el § deiare Ff Agayuf 8

Options :
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Question Number : 175 Question Id : 7773934793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A snail-shaped structure filled with fluid, in the inner ear is known as:
Options :

1. ¥ Cochlea

2. ® Malleus

3. # Incus

4. ® Stapes

Question Number : 175 Question Id : 7773934793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ PUa

2. % HUIRY (@ferom)

3. % RU%H

4. % TUNT

Question Number : 176 Question Id : 7773934794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person relies on residual hearing to communicate through speaking and lip-reading, this refers to:
Options :

1. # Deafness

2. % Hearing Impairment

3. ¥ Hard of Hearing

4. % Residual Hearing

Question Number : 176 Question Id : 7773934794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 98U

2. % YUy

3. ¢ HHYAR ol

4. % 3fafRIY Yqur

Question Number : 177 Question Id : 7773934795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A hearing loss characterized by an obstruction in outer/inner ear, which prevents proper transmission of sound waves, is known as:



Options :

1. % Symmetrical hearing loss
2. % Conducive hearing loss

3. % Sensorineural hearing loss

4. # Mixed hearing loss

Question Number : 177 Question Id : 7773934795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SEN/3MTaRe BT H ARY H HRUT BN AT YauT 8T B! T Hed 8, S @i a¥T P I TR0 B Abalt 82
Options :

1. % FHIHC Hqor gTH

2. ¥ 3D Haul g+

3. % Hdg-dfABIg yqur gIi

4. % TOf3d yqur g1H

Question Number : 178 Question Id : 7773934796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Generally, at what age group, a child will turn his/her head towards the sound source and enjoy listening that?
Options :

1. % 0-3 months

2. % 3-6 months

3. # 6-9 months

4. % 9-18 months

Question Number : 178 Question Id : 7773934796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYRUT:, {59 g a1l § 9= &7 e af Fid ST 3R ST § SR 3 A A 37e ey Sl 82

Options :




1. % 0.3 M
2. ¥ 3.6 AgH
3. % 6.9 HEH
4. % 918 HH

Question Number : 179 Question Id : 7773934797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AOAE stands for:

Options :

1. ¥ Automated otoacoustic emissions
2. % Automatic outer acoustic emissions
3. % Automated outer acoustic ear

4. ¥ Automatic otoacoustic emissions

Question Number : 179 Question Id : 7773934797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AOAE &1 quf =0 F1 82

Options :

1. ¥ Automated otoacoustic emissions (&ﬁaﬁ%g ICI3fDIRE D Erm'QFH)

2. % Automatic outer acoustic emissions (&ﬁaﬁ% AHIRIABIRCH sﬁl'?l?\q)
3. % Automated outer acoustic ear (31\I'C\IJ:IES ISP D iECIQ)

4. ¥ Automatic otoacoustic emissions (Hﬁﬁ% JCI3fDIRED gﬁ‘-l‘-ﬂ‘wrr)

Question Number : 180 Question Id : 7773934798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Appropriate age for early identification of hearing loss/deaftness is:
Options :

1. #® Between 4-6 years of age



2. # Pre-school age
3. % 1-2 years of age
4. ¥ 0-6 months of age

Question Number : 180 Question Id : 7773934798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT BTT-/TERTU &1 T8 UgaT™ & o Suged oy fpa-t AT St 82

Options :

1. % 4699 B AT & a1

2. % gg-fagmed 3Y

3. % 12 91 B IH

4.9 0-6 AR DI I
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Question Number : 181 Question Id : 7773934799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following tests, is not used for assessment of hearing by a practitioner?
Options :

1. ¥ Whistle test

2. % Whisper test

3. # Tuning fork test

4. % Audiometer test

Question Number : 181 Question Id : 7773934799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAforces GRT 90T & Sfieher & fog FafeRad & 9 o a1 udierur 18t fovan oiren g2
Options :

1. ¢ T (fean) ustequn

2. % JUIIDHY (fogTR) TRieron

3. % TR fgyel (g1 tiy) URlefun

4. % SUCTHTG! URI&UT

Question Number : 182 Question Id : 7773934800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A device is worn on both ears, but sound is only delivered to the good ear:
Options :

1. ¥ Cochlear implants

2. % Headband

3. ¥ CROS hearing Aid

4. % Bone Anchored Hearing Aid

Question Number : 182 Question Id : 7773934800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9g I 9T IUBRUI § Sl G HI-1 UR QI 74T &, Qifde €af hadl 3y &1 dob gl Ugddl &7
Options :

1. % HUNgd AT TR0

2. % SffURMY ugt

3.« CROS Y4dUl I

4. % QY TR YU

Question Number : 183 Question Id : 7773934801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ALD stands for:

Options :

1. ¥ Assistive Listening Devices

2. # Automated Listening Devices

3. % Auditory Learning Devices

4. ¥ Automated Listening Drivers

Question Number : 183 Question Id : 7773934801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ALD &1 JUf &9 &7 §?
Options :



1. ¢ Assistive Listening Devices (3fked foraf= f$arga)

2. % Automated Listening Devices (\}ﬁaﬂ%@? fergf %313@14)
3. # Auditory Learning Devices (G{W afT %?ﬂ_s:ﬁﬂ)

4. ® Automated Listening Drivers (&ﬁzﬁﬂ%ts’ feraf S\Eﬂﬁ)

Question Number : 184 Question Id : 7773934802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a correct sequence of steps of hearing aid selection process?
Options :

1. #® Needs Assessment, Perception, Measurement, Paired Comparisons

2. ¥ Needs Assessment, Measurement, Perception, Paired Comparisons

3. ¥ Measurement, Needs Assessment, Paired Comparisons, Perception

4. ® Needs Assessment, Perception, Paired Comparisons, Measurement

Question Number : 184 Question Id : 7773934802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad faswedl & § 1, 49ur T3 Ig UfehaT & RN &1 gl HH 82
Options :

1. % 3IRADdI 3T, AU, T, A g

2. ¢ JAYH Al HThaH , AU, Hd, JAd a1

3. % WU, ARG d] b, JId ol SgHd

4. % 3{IIYHT STba, U, R o, AU

Question Number : 185 Question Id : 7773934803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the sound coming from a hearing aid is unclear or distorted, which of the following may not be the reason?
Options :

1. # Weak Battery



2. # Poorly fitted microphone tube
3. ¥ Blocked Wax filter

4. ¥ Damaged hearing Instrument

Question Number : 185 Question Id : 7773934803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i Ao I S aTell @i 3Ry a1 fadd g, df Fafiied § I &F-91 SR 51 81 9hdl 82
Options :

1. % HHAR ot

2. % T[ed AR Y T G3HT HISh I ogd

3. ¢ 3G HIA fheey

4. % &ffcrRd gaur I

Question Number : 186 Question Id : 7773934804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following may not be an effective learning strategy for auditory learners?
Options :

1. # verbal direction

2. % group discussions

3. * reading aloud

4. ¥ Writing tasks

Question Number : 186 Question Id : 7773934804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeTiad # A DI saur RIgRidT & forg gHTdt S Iumifd 78T 81 el 52
Options :

1. % Hifa® ez
2. % g Tl



3. % SR Y Uel
4. ¢ ARG BRI

Question Number : 187 Question Id : 7773934805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The strategy using of visual and/or acoustic cues to improve memory is:
Options :

1. ¥ Mnemonics

2. # Jingles

3. % Rhymes

4. ¥ Repetitors

Question Number : 187 Question Id : 7773934805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W B UR & fow e2a 3iR/a1 e Gobdl T IUANT 3 b1 UM T gallell 2
Options :

1. ¢ RO gfaa (i)

2. % fofTet

3. % oI (TEP, I3H)

4. % GRIEdD

Question Number : 188 Question Id : 7773934806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Family of Procreation" is a type of family based on:
Options :

1. ¥ Birth

2. % Marriage

3. # Residence



4. # Ancestry

Question Number : 188 Question Id : 7773934806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SI T URAR" Th UBR BT IRGR S TR 3NURa 3|
Options :

1. ¥ ¥

2. % Qdt

3. % A R

R CRICK

Question Number : 189 Question Id : 7773934807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a common characteristic of family?
Options :

1. % A mating relationship

2. % Common Habitation

3. ® System of Nomenclature

4. ¥ Societal Regulations

Question Number : 189 Question Id : 7773934807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad el 7 § &4, uRaR ot I favar 981 82
Options :

1. % U HeY

2. % g A

3. ® FTHHUT Bl YTl

4. « T faf g




Question Number : 190 Question Id : 7773934808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one should be considered a right attitude of community about disability?
Options :

1. ¥ Disabled children have same and equal rights like other children.

2. ® Disability is a curse of God.

3. # Disabled children depend on mercy.

4. ® Disabled children always dependent on some elder.

Question Number : 190 Question Id : 7773934808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAeheITel o IR H THET BT DI A PRI FGI HHAT ST =AM
Options :

1. ¢ fawmar 5= &1 it o T o1 e UM 3R SRIeR HfYHR U B
2. % fIHANTAT S4R BT SMRMI B |

3. % fgmar g e R R B B

4. % Apan g gaen feddt 7 foosh a8 AR @A B

Question Number : 191 Question Id : 7773934809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which section of Income tax provides for a deduction in respect of the expenditure incurred by an individual or HUF resident in India on the
medical treatment (including nursing) training and rehabilitation etc. of handicapped dependents?

Options :

1. #® Section 80 C
2. % Section 80 DD
3. # Section 80 V
4. ® Section 88 B



Question Number : 191 Question Id : 7773934809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fyemanT Snfedt o fafre TR @RI Tfea) ufern 3R gary 3ife &R URd # aafadid a1 HUF Fardt gR1 forg U W & ey o
3R B I T YRT Beldl BT UTaeT B! 82

Options :

1. % YRT80 C
2. % YRT80 DD
3. % YRT8O V
4, % YRT88 B

Question Number : 192 Question Id : 7773934810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A special education professional should treat family for effective support to facilitate learners with disabilities:
Options :

1. ¥ With empathy

2. % With a judgmental perspective

3. # With conflicting family values

4. % As critique of family practices

Question Number : 192 Question Id : 7773934810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T foR Rief S &! fawmait Rignfiar ot giaem o fore et Tg/dr 8 URaR & Yy IER HAT A1 |

Options :

1. ¢ GEMHYfd & Iq1y
2. % Iy DI & WY

3. % AR faRiel urfvaries gl o 9ry
4. % qiRaie Afd & sieias & Fu 4




Question Number : 193 Question Id : 7773934811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a function of family to support special educator?
Options :

1. # Overcoming hesitation

2. # Sharing Critical Information about the child

3. # Feedback about the child's development/improvement

4. ¥ Sharing selective information about the child

Question Number : 193 Question Id : 7773934811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed # o o= e &1 90T e & forg ufkar &1 & =8t 82
Options :

1. % 3GHY UR BHIg UMl

2. % g & R § Hedqul SO 18l &l

3. % g & AP T/gUR & 9K H ufaferar 1

4.« §d & IR H ST BRI GIi DRl

Question Number : 194 Question Id : 7773934812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is not considered as a good practice for family support?

Options :

1. ® Parents are always made aware about the developmental and psychosocial development of their child.
2. ¥ Parents are only invited to come to school when there are problems in relation to their child.

3. % Parents are invited to schools for volunteer participation in various activities to support learners.

4. ® Parents are invited to be the member of school management committees to share their views.

Question Number : 194 Question Id : 7773934812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IR & HRUI-GIYU & fore FRafoiad fawent & @ o 33t ufkardt &l At St 32

Options :

1. % OTar-foar o) gHRN 30 9= & AT s 3R ATHING fd6Td & TR H SR a1 ST 8 |

2.« OIa1-far &) Had axit e 3 & o Smfad foar Sirar 8 ofd 39% 9= & Jay | ols 9T gl o

3. % fRrefal o1 TgRT UeH &1 & fore fafts nfafafert & Taaddt urfiert & fore arar-foar ot faemeal & smHf3a fesar st g1
4. % OO B 3 fa=R e H3 & fort faena vey= afifadt &1 9ewg 991 & e smifaa fear Srar g

Question Number : 195 Question Id : 7773934813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is true about community-based rehabilitation process?

Options :

1. ¥ Families of disabled and other marginalized children may also be part of a community-based organizations.
2. ® The Families of normal children should be the part of a community-based organizations.

3. # Families of disabled children should be marginalized in community-based organizations.

4. ® Families of marginalized children may be excluded to be part of a community-based organizations.

Question Number : 195 Question Id : 7773934813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG ST Gars ufshan & aR # Fafifad § 3 oF 91 $u 981 87

Options :

1. ¢ fa®maiT 3R o/ dferd s & uRaR ot Tgar Smutid e+l & fgwar §4 ad 5 |
2. % Y Sedl b GRART D1 GG TR T3] BT fgea1 =1 A1fg v

3. % G TYTRT TS T fab e a=di & GRAR| &1 dferd X6 S =g T

4. % dfed S & URAR] BT THET-SMUTRT TS BT R 97 J dTex 3T ol Ihal 5 |

Question Number : 196 Question Id : 7773934814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which among the following is not a misconception about disability in community?
Options :

1. # People who use wheelchairs cannot move.

2. ¥ People with disabilities can live very similar lives to other people.

3. % People with a hearing impairment cannot speak.

4. ® People with disabilities can only work at special jobs.

Question Number : 196 Question Id : 7773934814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & § &1 Ter & fadmaiTdr & IR § Tad YR 7181 82
Options :

1. % UREUGR I (RICTTIR) BT SUART HRA dTat AT Ia-fhR g1 Favd |
2. ¢ TAGET AN 3= A & JHH Sita St 9ehd g |

3. % qU Gy aTd ANT A1 el 9ad |

4. % fAHaANT AT Had fAAT TH Al 7 8§ 1 B Ihd g

Question Number : 197 Question Id : 7773934815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is considered as a rehabilitative component for involving community in rehabilitation process?
Options :

1. ¥ Immunization

2. ¥ Daily living skills support

3. # Referral to specialized services

4. ¥ medical intervention

Question Number : 197 Question Id : 7773934815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & 3 fa grafa ufshan & ager &1 nfird A & e gai e & =0 & H7H1 i1l 82

Options :



1. % glarefeur

2. ¢ R g sird gAdA
3. % Iy Jaraft & sifufdw
4. % fafre gxady

Question Number : 198 Question Id : 7773934816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a principle of organizing CBR?
Options :

1. # Participation

2. % Empowerment

3. ¥ Short-term measure

4. # Self-advocacy

Question Number : 198 Question Id : 7773934816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRed & § @19 CBR & STToH &1 RIGid el 82
Options :

1. ® FgUIRTan

2. % GRIKIBIT

3. ¥ BT U™

4. % TG.ORGY

Question Number : 199 Question Id : 7773934817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is not a way to measure impact of community-based rehabilitation (CBR)?
Options :

1. # Participation



2. ¥ Linguistic Diversity
3. % Quality of Life

4. ® Clinical outcomes

Question Number : 199 Question Id : 7773934817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed § 9 &9 THer SuTid gatd (CBR) & WHTG &1 AT &1 avidl e 82
Options :

1. % FEHTAICT

2.« YIi¥ fafrerar

3. % Sffg TR

4. % eI TRomg

Question Number : 200 Question Id : 7773934818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following strategy can be used for creating a barrier free learning environment for hearing-impaired children?
Options :

1. # Ensure increased use of verbal instructions/directions while teaching,

2. ® Arrange for a suitable writer for child.

3. # Use of concrete objects as learning aids.

4. ¥ Seating arrangement of the child a clear view of teacher’s face as well as the black board.

Question Number : 200 Question Id : 7773934818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT GIY 9Tl S o fTd ST Had ST A8 - & g FHRfeiad H 9§ 19 9 YU ST START foed Soff Fadl 62

Options :

1. % o1 SR Mg /SR o1 3iferd I 31 IuanT JFAfda BT
2. % g o U SUGdd D D IR DA




3. % R T 9g1ae 9t & U T 31 I3 BT G H=Al
4. 96 D1 TH AR HAT, ANl T2 B R1ereb & g & 1Y Tiue H Wy U 3 Gwi ¢




